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Question Number : 1 Question Id : 9983671121 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Rider is related to helmet in the same way as warrior is related to:
Options:

1. % defense

2 % gun

3. % uniform

4« shield

Question Number : 1 Question Id : 9983671121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = SfcReT



4. v @TA

Question Number : 2 Question Id : 9983671122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option in which the words share the same relationship as that shared by the given pair of words.

Prosecute : criminal
Options:
1 w Argue: lawyer

B Welcome : guest

3. # Treat: doctor

4. » Worship : devotee

Question Number : 2 Question Id : 9983671122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 9983671123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given below are five designs/figures, two of which are identical. Which two are identical?

Options:
1. « BandD

? « BandE

3 % AandD

] % CandE
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Question Number : 3 Question Id : 9983671123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

2. v BIRE

3. % AIRD

Question Number : 4 Question Id : 9983671124 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the following four letter clusters are similar in a certain way, and one is different. Find the one which is

different from the rest.
Options:

1. * DFIM

? « NMIG

3 x QSVZ

A % TLOS

Question Number : 4 Question Id : 9983671124 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = DFIM



2. « NMJG
3 & OSVZ

4. % JLOS

Question Number : 5 Question Id : 9983671125 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Two rotated positions of the same dice are given below. Which number will be on the face opposite to the face
containing 6?

@

Options:

1. = 5

? % 4

Question Number : 5 Question Id : 9983671125 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 9983671126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Eight persons A, B, C, D, E. F, G and H are sitting in two rows, each row facing the other. A is opposite D and is to the

left of C. There are two persons between B and G. E is facing F and is to the right of H. B and C are diagonally opposite

to each other.

Who is opposite H?
Options:

1.+ B

Question Number : 6 Question Id : 9983671126 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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H % ®Aa #iT 872
Options:

1. v+ B
2w B
2w C

4, = A

Question Number : 7 Question Id : 9983671127 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which two of the following six numbers are the same?
(A) 79384562 (B) 79384652  (C) 79834652
(D) 79386452  (E) 79834562  (F) 79384652

Options:
1. ®# CandE

? % AandE

3 « BandF



4 % AandD

Question Number : 7 Question Id : 9983671127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o o gEast 7 ¥ S @ & g 22

(A) 79384562 (B) 79384652  (C) 79834652

(D) 79386452  (E) 79834562  (F) 79384652

Options:

1. « C3HRE

2 x AIRE

3. B3R F

4. « AR D

Question Number : 8 Question Id : 9983671128 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

There are five pairs of letter clusters, in each of which, the second one is a transformation of the first, in terms of the
arrangement of letters of the first cluster in a particular order. In which two of the following five pairs, has the

transformation been done in the same way?

(A) PKRDF - RDKFP (By MZGBK - KGMYB
(C) JSRFH - SFHRJ (D) BTADZ - ZATBD
(E}) GEMRP - PMGER

Options:



1. # AandD

? « BandE

3. % BandD

4 % CandE

Question Number : 8 Question Id : 9983671128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BN HHEN & O 12 2, O ¥ 9lF A, TUH §Ag & W & U A9 FA H ey F #es H
SEAT, Tge & FAeROT g1 e 9 SEt 7 # 6 @ & w9iaor v & ger ¥ fEar mar 2o

(A) PKRDF - RDKFP  (B) MZGBK - KGMZB
(C) JSRFH - SFHRJ (D) BTADZ - ZATBD

(E) GKMRP - PMGKR

Options:
1. = A3RD
2 v B3IRE
3. %« B3RD
4. « C3IRE

Question Number : 9 Question Id : 9983671129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



There are two rows, each containing 3 numbers. Some rules are given below to be used for obtaining the resultant

number for each row separately. Apply the rules for each row from left to right and answer the question.
Rules :

i If an even number is followed by an even number, the first is to be subtracted from the second.
il. If an odd number is followed by an odd number, both are to be added.

iii. If an odd number is followed by an even number, the odd number is to be subtracted from the square of the even
number.

iv. If an even number is followed by an odd number, the odd number is to be subtracted from the even number.

Row I 7,8, 13
RowlIl: 12, 26,9

What is the sum of the resultant numbers of the first row and the second row?

Options:

1. = 45
? % 635
3.8 79

~J
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4 v

Question Number : 9 Question Id : 9983671129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. = 45
2 % 65
3. = 79
4, » 75

Question Number : 10 Question Id : 9983671130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A team of four with at least two boys is to be selected from four girls A, B, C and D and four boys E.F, Gand H

meeting the following conditions:

.. E cannot go with B,
ii. CandF have to be together.
iii. D cannot go with H.

iv. Gand A have to be together.

Which of the following can be selected as a team?

Options:
1. « F;CHD

2. w CIDNEB

2« CHEA

4 » HC BF

Question Number : 10 Question Id : 9983671130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
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3 = CHEA

Question Number : 11 Question Id : 9983671131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are there in the following figure?

Options:
1. & 19

2 w21

Question Number : 11 Question Id : 9983671131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rt R o R g 12

Options:

1. = 19
2. = 21
3. ¢ 24
4 = 23

Question Number : 12 Question Id : 9983671132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five addresses are given below. Which of the two addresses are exactly same?

1. Mrs. V. K. Mariapan, M- 483, Kudalanpuram, Passputti Lane, Thirukanpudam — 927 583
2. Mirs. V. K. Mariaapan, M- 483, Kundalanpuram. Passputti Lane. Thirukampudam — 927 583
3. Mrs. V. K. Mariapan, M- 483, Kudalanpuram, Passpatti Lane, Thirukampudam — 927 583

4. Mrs. V. K. Mariaapan. M- 483, Kundalapuram, Passpatti Lane, Thirukanpudam — 927 583

L]

Mrs. V. K. Mariaapan, M- 483, Kundalanpuram, Passputti Lane, Thirukampudam — 927 583

Options:
1. &« 2and4



4 % 3and3

Question Number : 12 Question Id : 9983671132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g g3, Jr R o ¥ wiF @ @ 9@ e w2

1. Mrs.
2. Mrs.
3. Mrs.
4. Mrs.
5. Mrs.
Options:

1. =

2. =

V. K. Mariapan, M- 483, Kudalanpuram, Passputti Lane, Thirukanpudam - 927 583
V. K. Mariaapan, M- 483, Kundalanpuram, Passputti Lane, Thirukampudam - 927 583
V. K. Mariapan, M- 483, Kudalanpuram, Passpatti Lane, Thirukampudam - 927 583
V. K. Mariaapan, M- 483, Kundalapuram, Passpatti Lane, Thirukanpudam - 927 583

V. K. Mariaapan, M- 483, Kundalanpuram, Passputti Lane, Thirukampudam - 927 583

2 HIT 4

133

3. v 23R5

4, =

3 HT 5

Question Number : 13 Question Id : 9983671133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following number sequence, how many times is an even number immediately followed by an odd number?

847369674834627314527295839273
Options:

1. 12

:

2¢ 10

G2
®
O

Question Number : 13 Question Id : 9983671133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 14 Question Id : 9983671134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following number sequence, how many times is an odd number immediately followed by an odd number but
NOT immediately preceded by an odd number?

B347369674834627314527295839273
Options:

1. % 3

Question Number : 14 Question Id : 9983671134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et v w7 A, e a7 o fawe ver & gl 91¢ vs Rww dEw § ofFT 3u gid /e

847369674834627314527295839273
Options:

Question Number : 15 Question Id : 9983671135 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
A’s mother is the sister of B. M is the husband of S. S is the mother of B’s sister. P is the sister of Q and daughter of B.

B is the son of S. How is M related to Q?
Options:
1. ® Uncle

? % Brother

3 x Maternal grandfather

4.  Paternal grandfather

Question Number : 15 Question Id : 9983671135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR A, BH SEa gl M, SH Il g1 S, B sga A AT I P, Q # 7@ 3N B #r T 81 B, S
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Options:

1. = =m=m

2. x

Question Number : 16 Question Id : 9983671136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following Venn diagrams correctly represents the relationships among the following classes?

Educated. nephews, relatives

Options:

@@0@

Question Number : 16 Question Id : 9983671136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 17 Question Id : 9983671137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A and B can complete a piece of work in 12 days, while B and C can finish the same work in 18 days. If A, B and C
working together can finish the work in 8 days, how many days would A and C together take to complete the work?
Options:

1. » 2days



4. » 1ldays

Question Number : 17 Question Id : 9983671137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v 9=

2. = 95 e

3.« 10 R

4. = 11 &=

Question Number : 18 Question Id : 9983671138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the following four figures are alike in some ways, and one is different. Find the odd one.

Options:



/\
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3. = \
o
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4 v "‘

Question Number : 18 Question Id : 9983671138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o I & ¥ 99 Ry T afa ga= £, 3t v @e B 3999 & 7919 1

Options:

1. = I
/\
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Question Number : 19 Question Id : 9983671139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number that can replace the question mark (?) in the following series:

3, 8, 15, 2, 35, 48
Options:

1. = 22

2“; 24

Question Number : 19 Question Id : 9983671139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e gmen & e feg (?) @ sforafa & g aer g g

3 8,15, 7, 35,48

Options:



2. v 24
3 = 26
4 = 27

Question Number : 20 Question Id : 9983671140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number that can replace the question mark (?) in the following series;

5. %9, 13, 28, 2.7
Options:

4, v 4l

Question Number : 20 Question Id : 9983671140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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5. 9,15, 25, 2,.67

Options:



2 = 49
3. = 44
4. v 41
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Question Number : 21 Question Id : 9983671141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For which of the following water activities is a river with a relatively steep gradient (called rapid) mandatory?
Options:
1. % Synchronized Diving

2 % Surfing
3  Rafting

4. % Skim Boarding

Question Number : 21 Question Id : 9983671141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 22 Question Id : 9983671142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wayanad is a rural district located in the state of:

Options:



1. « Kerala

2 % Telangana

3. # Karnataka

4 = Odisha

Question Number : 22 Question Id : 9983671142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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1. » 3
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Question Number : 23 Question Id : 9983671143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The Wodeyars ruled Mysore from 1399 to 1950. Who interrupted this long rule in the period between 1761 to 17967

Options:

1. # Chithira Thirunal Balarama Varma

2 . Hyder Aliand Tipu Sultan



3. % The Zamorin of Calicut’

4. % VeeraKerala Varma II

Question Number : 23 Question Id : 9983671143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. » Ry e o 9o

3 % AT & A

4. » T T A

Question Number : 24 Question Id : 9983671144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Nishtha Dhriti Satyam’ that translates to ‘dedication, steadfastness and truth’ is the motto of which of the following
universities?
Options:

1. » Kerala University

? % Mumbai University

3 v Delhi University



4. » Kolkata University

Question Number : 24 Question Id : 9983671144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1« X faeafaezem

5 . s fEeataeEem

3 fee Reafieamem

A x el RafaeTey

Question Number : 25 Question Id : 9983671145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As of May 2019, at which Olympic Games did India win her last gold medal in Men’s Hockey?

Options:
1. « 1980, Moscow

? w1976, Montreal
3 % 2008, Beijing

4. % 2012, London

Question Number : 25 Question Id : 9983671145 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

AS 2019 T% ¥ IR, e NAFTH Qe F 9RT 7 T T gl FraAerar H 39 e w=or

ek Hidr AuT?
Options:
1. » 1980, ATEHI

2« 1976, Alfeeder

3 % 2008, ST

4 « 2012, 51

Question Number : 26 Question Id : 9983671146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Silambam’ is an art form of the state of Tamil Nadu. What type of art does Silambam represent?
Options:
1. » Canvas painting

? % Folk dance
3. # Tribal music

A Martial art

Question Number : 26 Question Id : 9983671146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 27 Question Id : 9983671147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Including the famous one in New Delhi, how many Jantar Mantars (astronomical observatories) were built by Maharaja

Sawai Jai Singh IT in the early 1700s?

Options:

1. =

It

/.

o
<

Question Number : 27 Question Id : 9983671147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 2




Question Number : 28 Question Id : 9983671148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In Physics, the Hoyle-Narlikar theory is a theory that is based on
Options:

1. # nuclear fission

? % muclear fusion

3  gravitation

electromagnetism

4.

&

Question Number : 28 Question Id : 9983671148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 9983671149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following Ozone depleting substances is used as a fumigant in agriculture?
Options:
1. «» Methyl Bromide

? % Halons

3. & HCFCs

4 = CFCs

Question Number : 29 Question Id : 9983671149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1, v BUET A




4. = CFCs

Question Number : 30 Question Id : 9983671150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Who among the following received a Nobel Prize for the year 2018 in the field of medicine for the discovery of cancer

therapy by inhibition of negative immune regulation?
Options:
1. % Denis Mukwege

? « James P Allison
3 % Nadia Murad

4 % William D Nordhaus

Question Number : 30 Question Id : 9983671150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 u SEE FgEAS

2 » =FF 9 tferda

4. « Tfems & Acesw



Question Number : 31 Question Id : 9983671151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who founded the Khilji dynasty?

Options:
» Jalaluddin Khilji
1. v J

9 % Alauddin Khilji

3 & Qutubuddin Mubarak Shah

4 % Abu Bakr Shah

Question Number : 31 Question Id : 9983671151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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A x HY TR WE

Question Number : 32 Question Id : 9983671152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Public Accounts Committee (PAC) constituted by the Parliament of India for the purpose of auditing the revenue
and the expenditure of the Government of India consists of members from the Lok Sabha.

Options:



bty
4
—_
N

3. % 10

Question Number : 32 Question Id : 9983671152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ 15

2. = 25

3. x 10

4. = 12

Question Number : 33 Question Id : 9983671153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Article 17 of the Constitution of India abolishes:
Options:
1. » child marriage



2 . untouchability

child labour

b

3.

Sati

<,

:

Question Number : 33 Question Id : 9983671153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Hiaue # g=ee 17 @r #1 3eqme Fr &

Options:

1, « & e

D, & SHEDE

Question Number : 34 Question Id : 9983671154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the final score in the first ever Hockey World Cup title won by India in 1975 against Pakistan?

Options:
1.« 2-1

? % 3-1



Question Number : 34 Question Id : 9983671154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1975 # wiFrraa & TFg sTRT @R Tgell aR Sd ¢ gihr &g &9 Taw 7 dfaw =R GFaar a7

Options:

T: & 221
2w 3-7
3 = 4-1
4 = 3-0

Question Number : 35 Question Id : 9983671155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Pattachitra’ is one of the oldest and most popular forms of painting in India that originated from:
Options:
1. # Kerala

? % Rajasthan

3. # Maharashtra

4« Odisha



Question Number : 35 Question Id : 9983671155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teafe R & OF Freaad A gt sl e e ¢ e soafea o @ g%
Options:

"I_wm

7w I

Question Number : 36 Question Id : 9983671156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ranchi is the capital of
Options:
1. » Gujarat

? % Bihar

3.« Jharkhand

4 % Andhra Pradesh

Question Number : 36 Question Id : 9983671156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= Fr TS B

Options:



4 = HTT T2

Question Number : 37 Question Id : 9983671157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG FHAT HHRT0T FU (THCHCHIAN) &F FFER, I v afeq wfa weae Ue ¥ FH FH
T £ A 3§ EfFETeT A S B

Options:

1. = 14w

2 x 24

3. v 36 EH

4. = 10 =

Question Number : 37 Question Id : 9983671157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to National Sample Survey Office (NSSO), if a person works less than hours per week he is
considered underemployed.

Options:



1. & 14 hours
? % 24 hours
3.« 36 hours

A % 10 hours

Question Number : 38 Question Id : 9983671158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following diseases is NOT caused by a virus?
Options:
1. # Influenza

? % Measles
3. ® Chicken Pox

/. « Tuberculosis

Question Number : 38 Question Id : 9983671158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & @ &t @ o1, om0y gamr 7@ Serar?

Options:



4. o T9EE (FEA)

Question Number : 39 Question Id : 9983671159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ZERLINA is the name of a now-defunct Indian research reactor. The full form of ZERLINA is:
Options:
1. « Zero Energy Reactor for Lattice Investigations and New Assemblies

? w Zero Energy Luminous Investigation Assembly

3 & Zero Energy Lateral Investigation Assembly

4. » Zero Energy Lighting Investigation Assembly

Question Number : 39 Question Id : 9983671159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST, 3 U AT TR Hegeue Ruaet &1 717 g1 el (ZERLINA) %7 9 #1H &

Options:

SRT TS RUeeT B AfCH SFaTeciey US 3 o

1. ¢

D TR TS SHRAT FeAredRre HuEel

9 xSRI TASH TS SealecIres HAFEel



4w SR TAS FEfAeT SFATEeIRT e

Question Number : 40 Question Id : 9983671160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the National Institute of Nutrition located in India?
Options:

1. = Jaipur
2 w Bengaluru

3 . Hyderabad

4] = Kolkata

Question Number : 40 Question Id : 9983671160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IRT H TSET 9INUT FEAH FaT BT 22

Options:
P
2_ ® 3



Arithmetic Ability

Group Number : 3
Group Id: 99836719
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability

Section Id : 99836725
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836757
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9983671161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If12+224+3%+ +10%+ 11+ 12 =650, then3 + 12+ 27 + + 300+ 363 + 432 is equal to:
Options:
1. v 1950

2 % 1300

2700

-
%

A, % 2100



Question Number : 41 Question Id : 9983671161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg 12422 +3%2+ +10%2+112+122 =650, a@r 3+ 12+ 27+ +300+363+432 A5 &

TS B
Options:

1. « 1950
2 % 1300
3w 2700
4. = 2100

Question Number : 42 Question Id : 9983671162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be value of c,ifa(@a+b+c)?=1792: b(a+b+0)? =1536; c(a+b+c)? = 7687

Options:
1.« 3

-2
&
b=

16

i
%

bb.
®
]

Question Number : 42 Question Id : 9983671162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g a(@a+tb+c)?=1792;b (a+b+c)? =1536;c (a+b+c)2 =768, ar c = AT FT N2
Options:



Question Number : 43 Question Id : 9983671163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Between which two whole mumbers does 0.73 lie on the number line?
Options:

1. « land?2
? % 2and3
3. « Oandl

4 % 3and4

Question Number : 43 Question Id : 9983671163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEIT @ W 0.73 fae @ qur wemmt & & g g 82

Options:

1. = 13R2



2 % 233

3 ¢ 031

4. » 334

Question Number : 44 Question Id : 9983671164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

; 8 ; S ; g e . 8
On being asked what o of a certain fraction is. a student made the mistake of dividing the fraction by o and so gotan

2 —_—
answer that exceeded the correct answer by o The fraction is:

Options:
16

1. & 109
17

2 ® oA
19

16
A 17

Question Number : 44 Question Id : 9983671164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T @ I W B e e @ w e, v o o T @ B @ - @ Rt w
Ry 3 aRoTEERT 39 S Sea fHen @ WE seew & 2 e wn e e

Options:



16
19

—h
]

17

19
3. = 16
16
4, o 17

Question Number : 45 Question Id : 9983671165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

- . . . 35 -
The product of two fractions is e and their quotient is = The lowest fraction is:

Options:

1. v

b |

w |~

14

A % 13

Question Number : 45 Question Id : 9983671165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aﬁmﬁfaﬂw% HIT 3T H|df¢ﬂ§%‘lsﬂﬁ@ﬁﬂ'ﬁ4ﬁ%ﬁ

Options:




Ul | s

il
o

14
3. = 15

8

Question Number : 46 Question Id : 9983671166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Five bells ring together at intervals of 2, 4, 8. 9 and 10 seconds. All the bells begin ringing simultaneously. They will

again ring simultaneously after:

Options:

1. ® 5 minutes

? « 6 minutes

3. ® 10 minutes

A % 9 minutes

Question Number : 46 Question Id : 9983671166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 ufeam 2, 4, 8, 9 3R 10 ¥F2 & HAUST W T& WY Foicr ¢! Wl ofear v ey a1 & & e
T 3T O ¥ US @Y FE g9

Options:



3 x 10 Aae 51g

Question Number : 47 Question Id : 9983671167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In an examination, the number of those who passed and the number of those who failed was in the ratio 25 : 4. If eight

more students had appeared for the exam and the number of failure was three less than earlier, the ratio of passers to
failures becomes 23 : 3. The total number of students who appeared initially for the examination was:

Options:
1. «+ 174

3. % 168

200

e
%

Question Number : 47 Question Id : 9983671167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH TG H IO gl JTe T AR AT @ ATt Y T 25 ¢ 4 % 9 & o iy as
3R o ol F Uit §T & R e @ B TEA TEe A geer # A FA &, @ sehr ik
FFAOT F AT 23 © 3 g S &1 TN H UE H 3TeUS FA I O FT FEAT A B

Options:



1. ¢ 174

2 % 185
3. » 168
4. = 200

Question Number : 48 Question Id : 9983671168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 75% of A is 25% of B and B is x% of A, then the value of x is:

Options:
1. v 300

2 % 200

3. % 100

A % 400

Question Number : 48 Question Id : 9983671168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TfE A FT 75% B T 25% & 3 B, A &7 x% &, 9 x &7 AT 2N

Options:

1. » 300



2 % 200

3. = 100

4. = 400

Question Number : 49 Question Id : 9983671169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A number is increased by 30% and then decreased by 30%. It was further increased by 20% and then decreased by 20%.

What is the net increase/decrease percent in the number?
Options:

1. & 25% increase
? % 25% decrease
3. % 12.64% increase

A 12.64% decrease

Question Number : 49 Question Id : 9983671169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foreh T & 9ger 30% Fr gfy Fr oF 3w R 30% FHr Fhr Fr ) a3 sEF B 20% Fr sk g
#r 73 AT BT 20% A & Fr 71 e 7 g2 gfEEA sfoee 79 F12

Options:

1 % 25%

2 % 25% FHAr



3 1264% T

4. v 12.64%

Question Number : 50 Question Id : 9983671170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average age of 40 students of a class is 16 years. After the admission of 10 new students to the class, the average
becomes 15 years. The average of five of the new students is 13 years. What is the average age (in years) of the
remaining five new students?

Options:
1.« 9

? % 10

3w 12

4 » 1]

Question Number : 50 Question Id : 9983671170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U FAT & 40 ST H dEaT WY 16 a¥ F| FET H 10 AT O/ F ¥aU F %€, AEg 15 I g
g1 9T FT O A A F AT 13 a9 g1 AW 99 Jv o & e g (3§t #7) e 22

Options:

1. v 9

2 = 10



Question Number : 51 Question Id : 9983671171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper earns a profit of 20% after selling a book at 20% discount on the printed price. The ratio of the cost price
and printed price of the book is;

Options:

1. & 312
2w 213
2 w13

Question Number : 51 Question Id : 9983671171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wwgﬁanﬂmzo%qﬁwwﬁaﬁ#mzo%mwmﬁl I & AFTI Hed

3R ARE 777 #F 3qIE &

Options:
T & 352
2. o 253



Question Number : 52 Question Id : 9983671172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A company offers three types of successive discounts to a customer:

L 28% and 12%
II. 30% and 10%
III. 36% and 4%

Which offer is the best for the customer?
Options:

1. %1

3\; II1

4. » Alloffers are equal

Question Number : 52 Question Id : 9983671172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh &1 TTgeh H Teh o d1G Tabh did TR &l BT Jaid il &:

. 28% 3T 12%
. 30% 3T 10%
1. 36% 3T 4%

TAEF F o7 FaIF =T HTHT HiT FT 2Em?

Options:



4« T A TFH A g

Question Number : 53 Question Id : 9983671173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a discount of 30% on the marked price of a shirt saves a man T 450, then how much did he pay (in ) for the shirt?
Options:
1. + 1050

Question Number : 53 Question Id : 9983671173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg o Fr AEaaT Fa W 30% F T & ¥ TF AT F T450 F F9F g §, O 38 ;W F
fore fraetr HrAa & (X #) Fra fhar?

Options:

1. « 1050



2 % 1500

3. » 1480

4. %= 1600

Question Number : 54 Question Id : 9983671174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of ¥ 25,000 is lent partly at 8% and the remaining is lent at 10% per annum. If the yearly interest on the average
i5 9.5% then the sum (in T) which is lent at 10% is:

Options:
1. = 6,250

2w 15000

3 o 18,750

4. = 22,000

Question Number : 54 Question Id : 9983671174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¥ 25,000 &r Tr & TE BEF Fr 8% 9T W 99 Fr 10% FETAT Fr S &7 ¥ 3UR fTar I 2 o
3raas FremET ST &X 9.5% § ar 10% Fr &x . F3ur & o ufEr (3 #) o gef

Options:

1. % 6,250

2 % 15,000



3.« 18,750

4. = 22,000

Question Number : 55 Question Id : 9983671175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Varun has the option of investing in the following three schemes. If he wants to invest an amount of ¥ P, then which
scheme is most beneficial?

A scheme with a rate of interest that is:
I.  24% per annum compounded quarterly for one vear.

II.  24% per annum compounded half yearly for one vear.

III. 24% per annum compounded annually for one year.

Options:
1.v1

2. % I

3. % IO

4. » Allschemes are equally beneficial

Question Number : 55 Question Id : 9983671175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



JTUT F 9F Aeate@a 39 Iaanstt # @9 Fa 7 &eeT g1 IfE 38, TP & ufEr Fr TS e
TEar 2, dr 38+ T #iF O dear gew 30 wraeAeg g

=T S FeT s &3 3T ot & @y A &

. 24% W ==, T Y & e, @ e W assfe v /@ el
. 24% WM =41, TF a9 & T, @ oA W Iwgfe §9 § |
ll. 24% M= =TS, T a¥ & O, @ a¥ wHgfy 79§ oE)

Options:

1. v |

3. % M

4« T AFAT FAS T T TEEA

Question Number : 56 Question Id : 9983671176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The area of a square and a rectangle are equal. The length of the rectangle is greater than the length of any side of the

square by 4 cm and the breadth is less by 2 cm. The ratio of the perimeter of the rectangle to the perimeter of the square is:

Options:
1. = 4:5
2.\-" 5:4



#®
I
¥

4.

Question Number : 56 Question Id : 9983671176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vE T AR AT F AEHE T gl HT B Fars F97 Hr A off oo Fr wwE ¥4 om FOF §
AR =EE 2 cm FA B aag & 9 @ T Fr ol w1 e g

Options:

T & 4:8
5 T !
a. w F3:2
d. & 2:3

Question Number : 57 Question Id : 9983671177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Nisha can do a piece of work in 25 days. Kinjal can do the same work in 40 days. If they worked together for 10 days,

then how much work would be left?
Options:

1. « 20

13

11



A % 20

Question Number : 57 Question Id : 9983671177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frer v @ 25 RGE 7 T R FFaT gl e 7 w1 40 RGET # T wdr g1 AG ¥ e e
10 f&&T & F1H Far § aF 319 7 Fgar F17 arhr 1§ Jeen?

Options:

1. v 20

13
20

Ao
&}

i1

Question Number : 58 Question Id : 9983671178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 3 men or 4 women can plough a field in 86 days, then how long will 7 men and 5 women take to plough it?
Options:

1. » 12days

7 o 24days

3w SOdays



4. » 43days

Question Number : 58 Question Id : 9983671178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofE 3 =9 = 4 AT PeEs vF wa F Ja 86 F # F wwa € 7 7 Ak 5 Afgenat =
57 F1H & raar gag e

Options:

1. = 12 e

2. v 24T

3, « 80 f

4. » 43 f&=

Question Number : 59 Question Id : 9983671179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train passes two bridges of length 500 m and 250 m in 110 seconds and 60 seconds, respectively. The length of the
train is:
Options:

1. v 50m

? % 100m

3 % 120m

4 =% 150m



Question Number : 59 Question Id : 9983671179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Us ¢ 110 ¥ehs 3R 60 ¥Hs F FAW: 500 m 3R 250 m F g ol & IR FT A g1 A H 7@ §:

Options:
1. ¢ 50 m
2. % 100 m
3. % 120 m
4 % 150 m

Question Number : 60 Question Id : 9983671180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Study the following table and answer the question that follows.

Day 2nd Class | 1st ACIII | ACTII | AC st
Non-AC Class | Tier Tier | Class (150
(900 seats) | Non- | (500 (250 | seats)
AC seats) | seats)
(500
seats)
Monday 850 460 480 240 145
Tuesday 840 400 450 230 120
Wednesday | 830 390 480 220 130
Thursday | 790 480 490 250 125
Friday 840 470 500 210 130

If the data related to the vacant seats for AC Ist class is representad by a pie-chart, then the central angle of the sector
representing vacant seats for AC Ist class for Wednesday is:

Options:

1. = 144°

7 % 300°



3.¢ 72

4. % 160°

Question Number : 60 Question Id : 9983671180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT afeeT & 3T 9T A BT 77T w97 Fr 397 &

fe= efad Sofr | gy Aofr | -8R | -8 | T

AT TH AT THT | T T qUH
(900 ®r&) | (500 ®re) | (500 | (250 | &wfr
Hre) |®He) | (150

Hre)
FHaET | 850 460 480 240 | 145
TTeER | 840 400 450 230 |120
TeER | 830 390 480 220 |130
TFEEAR | 790 480 490 |250 |125
SR | 840 470 500 |210 |130

Ife guR Al vl =1 & e g det @ gefg e #+r
UIS-EE GERT AT ST g, a gYUER & o guw Aol ol
T F v Rag @t & Rt = T 87 71 &
0T (Hger TITS) B

Options:

1. = 144°



5w 300°

3., v 72°

4. = 160°

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section I d:
Question Shuffling Allowed :

General English

4
99836720
0

0

No

No

0

20

No

Yes

0

0

General English

99836726
1

Online
Mandatory
16

16

20

1
99836758
Yes

Question Number : 61 Question Id : 9983671181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that can be used as a one-word substitute for the given group of words.

One who attacks cherished ideas or traditional institutions.
Options:

1. % Introvert

?  « Iconoclast

3. % [Impregnable

/. « Indefatigable

Question Number : 61 Question Id : 9983671181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.

One who attacks cherished ideas or traditional institutions.
Options:

1. & Introvert

? « Iconoclast

3 u Impregnable

4. » Indefatigable

Question Number : 62 Question Id : 9983671182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that best gives the meaning of the underlined idiom.

She left no stone unturned to bring her baby boy back to life.

Options:
1. % She collected all the stones

? % She threw all the stones

3. « She used all available means

4. % She did not use any opportunity

Question Number : 62 Question Id : 9983671182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best gives the meaning of the underlined idiom.

She left no stone unturned to bring her baby boy back to life.

Options:

1. % She collected all the stones

7 % She threw all the stones

3 She used all available means

/. « She did not use any opportunity

Question Number : 63 Question Id : 9983671183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that can be used as a one-word substitute for the given group of words.

A state or country run by the worst, least qualified. or most unscrupulous citizens.
Options:
1. « Kakistocracy

? u DBureaucracy

3 u Aristocracy

/4. » Neocracy

Question Number : 63 Question Id : 9983671183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.

A state or country run by the worst, least qualified. or most unscrupulous citizens.
Options:

1. « Kakistocracy

2  Bureaucracy

3. Arstocracy

4. % Neocracy

Question Number : 64 Question Id : 9983671184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate option.
The walnut is the only tree nut that is excellent source of alpha-linolenic acid. plant-based omega-3
essential fatty acid.

Options:

1' % d.4a

7 % the, the

3 % thea

4.  an the

Question Number : 64 Question Id : 9983671184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

The walnut is the only tree nut that is excellent source of alpha-linolenic acid, plant-based omega-3
essential fatty acid.

Options:

2 % the, the

3. = the, a

4. « an, the

Question Number : 65 Question Id : 9983671185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the most appropriate option.

A month ago I got call from my assistant that certain Mr Shah wanted to see me.
Options:
1 o d.4a

7 % the. a

3 % a the

4. w the, the

Question Number : 65 Question Id : 9983671185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the most appropriate option.

A month ago I got call from my assistant that certain Mr Shah wanted to see me.
Options:

1. » a2

o I the, a

3. = athe

4. % the, the

Question Number : 66 Question Id : 9983671186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate tense form.

He some of the shirt samples presented to him and then placed his order.
Options:
1. % had selecting

? % had been selected

3. « selected

4 % has been selected

Question Number : 66 Question Id : 9983671186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fill in the blank with the most appropriate tense form.

He some of the shirt samples presented to him and then placed his order.
Options:

1. & hadselecting

7 % had been selected

3« selected

4. = has been selected

Question Number : 67 Question Id : 9983671187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

I have been working without a break morning on my science project.
Options:

1. % in

? w after

3 = for

4  since

Question Number : 67 Question Id : 9983671187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fill in the blank with the most appropriate option.

I have been working without a break morning on my science project.
Options:
1. = in
2. = after
3. = for
4. « since

Question Number : 68 Question Id : 9983671188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

Iwas the middle of a meeting so I asked my friend to wait. As soon as I was free, I called him my cabin.

Options:
1. « in, into

? % on, through

3w into, on

4 = between, in

Question Number : 68 Question Id : 9983671188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

Iwas the middle of a meeting so I asked my friend to wait. As soon as I was free, I called him my cabin.

Options:

1. « o, into

2  on, through

3 % into, on

4. = between, in

Question Number : 69 Question Id : 9983671189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

You should not live your means.
Options:

1. & away

? % by

3. % within

4. » beyond

Question Number : 69 Question Id : 9983671189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fill in the blank with the most appropriate option.

You should not live your means.

Options:

1. « away

2 x by

3. % within

4.  beyond

Question Number : 70 Question Id : 9983671190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

Be not envious your brother’s position.
Options:
1. v of

? % fto

3 % off

1 % on

Question Number : 70 Question Id : 9983671190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Fill in the blank with the most appropriate option.

Be not envious your brother’s position.
Options:
1. v of

2 = to

Question Number : 71 Question Id : 9983671191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given select the grammatically correct sentence.



Options:
1. » Heis very poor so he does not beg.

? . Helsvery poor yet he does not beg.

3 » Hels very poor so he did not beg.

4. » Helsvery poor therefore he did not beg.

Question Number : 71 Question Id : 9983671191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given select the grammatically correct sentence.
Options:

1. «» Heisvery poor so he does not beg.

2  Helsvery poor yet he does not beg.

3 Helsvery poor so he did not beg.

4. « Helisvery poor therefore he did not beg.

Question Number : 72 Question Id : 9983671192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best transforms the given sentence without changing its meaning.

She is not one of the best story-writers in English.
Options:
1. % She is one of the worst story-writers in English.



2 w She is worst at English story-writings.

3 Some story-writers in English are better than her.

/]« Some story-writers are worst at English story-writings.

Question Number : 72 Question Id : 9983671192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that best transforms the given sentence without changing its meaning.
She is not one of the best story-writers in English.

Options:

1. & She is one of the worst story-writers in English.

2 & She is worst at English story-writings.

3.  Some story-writers in English are better than her.

/. » Some story-writers are worst at English story-writings.

Question Number : 73 Question Id : 9983671193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

SUBTERFUGE
Options:

1. # Frankness



7 % Openness

3 Deception

4 % Dominance

Question Number : 73 Question Id : 9983671193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

SUBTERFUGE
Options:

1. % Frankness

2 = Openness

3. » Deception

4. % Dominance

Question Number : 74 Question Id : 9983671194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

RAVAGE
Options:
1. « Destroy



? % Preserve

3. # Reconstruct

4 = Renovate

Question Number : 74 Question Id : 9983671194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.
RAVAGE

Options:
1. « Destroy

? % Preserve

3 % Reconstruct

4. % Renovate

Question Number : 75 Question Id : 9983671195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

QUELL
Options:
1. = Adgitate



2 % Aggravate

3. « Subdue

A % Surrender

Question Number : 75 Question Id : 9983671195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

QUELL
Options:
1. = Agitate

o I Aggravate

3.« Subdue

4. = Surrender

Sub-Section Number: 2
Sub-Section 1d: 99836759
Question Shuffling Allowed : Yes

Question Id : 9983671196 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

QQuestion Label : Comprehension



Read the following passage and answer the questions given after it.

Depending on its use, the properties of the silk differ. The scaffolding
or dragline silk, used to affix the web and the lines radiating from the
hub, is strong and elastic and non-sticky and used by the spider to
move around. The spiral silk, used for the actual capture, is glue-
coated and elastic, too. The spiral silk, produced by some species of
spiders, is truly ingenious: seen magnified, the threads resemble a
necklace, with spaced-out beads. Inside each bead of the necklace lies
colled up silk, waiting to be played out when an insect bongs into the
web. making it stretch! When the tension is released. the silk thread
reels back in, so the web won’t sag.

Spider silk is six times as strong as steel wire, weight for weight, and
the orb-weaver wastes none of it, eating it when rebuilding its web
every morning. It is extraordinarily light, too — the silk used for a
large web is one thousand the weight of the spider.

As for us, we're still struggling to find ways to syvnthesize spider silk
— it could have myriad uses if it could be produced in large enough
quantities (bulletproof jackets, sutures, scatfolding). So far, alas, the
spider still sits in the middle of her web, guarding her secret jealously.

Sub questions

Question Number : 76 Question Id : 9983671197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

On what does the properties of silk differ?
Options:

1. & size

? % shape

3. & use

4. % durability

Question Number : 77 Question Id : 9983671198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The strong, elastic and non sticky silk used by
spiders to move around is the silk.

Options:



1. « Dragline

2 % Swathing

3 x Spiral

A = Attachment

Question Number : 78 Question Id : 9983671199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which word from the passage means the same as
‘original?
Options:

1. » Jealously

? . ingenious

3 x extraordinarily

4], » myriad

Question Number : 79 Question Id : 9983671200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Based on the passage given above choose the one
that is true.
Options:
The synthetic silk, used for the actual capture, is
1. % glue-coated and elastic, too.

2 w Spider silk is sixty times as strong as steel wire.



The spiral silk, produced by some species of spiders.
3 resemble a necklace, with spaced-out beads.

The silk used for a normal web is one thousandth the
A« weight of the spider.

Question Number : 80 Question Id : 9983671201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given choose the word which best
describes the meaning of the fragmented sentence
taken from the given passage:

That which is innpumerable
Options:

1. & Reels

? «» DBong

3 » Ingenuous

4. » Myriad

Question Id : 9983671196 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)

Question Label : Comprehension



Read the following passage and answer the questions given after it.

Depending on its use, the properties of the silk differ. The scaffolding
or dragline silk, used to affix the web and the lines radiating from the
hub, is strong and elastic and non-sticky and used by the spider to
move around. The spiral silk. used for the actual capture, is glue-
coated and elastic, too. The spiral silk, produced by some species of
spiders, is truly ingenious: seen magnified. the threads resemble a
necklace, with spaced-out beads. Inside each bead of the necklace lies
coiled up silk, waiting to be played out when an insect bongs into the
web. making it stretch! When the tension is released. the silk thread
reels back in. so the web won’t sag.

Spider silk is six times as strong as steel wire, weight for weight, and
the orb-weaver wastes none of it, eating it when rebuilding its web
every morning. It is extraordinarily light, too — the silk used for a
large web is one thousand the weight of the spider.

As for us, we're still struggling to find ways to svnthesize spider silk
— it could have myriad uses if it could be produced in large enough
quantities (bulletproof jackets. sutures, scaffolding). So far, alas. the
spider still sits in the middle of her web, guarding her secret jealously.

Sub questions
Question Number : 76 Question Id : 9983671197 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
On what does the properties of silk differ?

Options:

1. = size

2 u shape

3. &« use

4.« durability

Question Number : 77 Question Id : 9983671198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The strong, elastic and non sticky silk used by
spiders to move around is the silk.

Options:

1. « Dragline

2 & Swathing

3.« Spiral

4. w Attachment

Question Number : 78 Question Id : 9983671199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which word from the passage means the same as
‘original™?
Options:

1. = Jealously

2  Ingenious

3 extraordinarily

4. » myriad

Question Number : 79 Question Id : 9983671200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Based on the passage given above choose the one
that is true.



Options:
The synthetic silk, used for the actual capture, is
1. & glue-coated and elastic, too.

2 % Spidersilk is sixty times as strong as steel wire.

The spiral silk, produced by some species of spiders.
3. resemble a necklace, with spaced-out beads.

The silk used for a normal web is one thousandth the
4. = weight of the spider.

Question Number : 80 Question Id : 9983671201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the options given choose the word which best
describes the meaning of the fragmented sentence
taken from the given passage:

That which is innumerable

Options:
1. = Reels
2 % Bong

3. % Ingenuous

4. » Myriad



General Hindi

Group Number : 5

Group Id: 99836721

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Hindi

Section Id : 99836727
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 99836760
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983671202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘IeTeT e g IUFT ¥ T £7

Options:

1. v 3



Question Number : 81 Question Id : 9983671202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘WemeT oeT fFE IUET W T &7

Options:
1. v @
2 % ¥
3« H
4w U

Question Number : 82 Question Id : 9983671203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9T 19 9YT gF AT AW 9By Use-TAAToT i 9f5ar & 1 FEd 27

Options:

1. » I

Question Number : 82 Question Id : 9983671203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9T 19 9YT gF AT AW 9By Use-TAAToT i 9f5ar & 1 FEd 27

Options:



2w Ug-TEEAT

Question Number : 83 Question Id : 9983671204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e oee B TR # aeg §7

Options:

1. » TAHMOT
7 o TaEl

3.« o=

Question Number : 83 Question Id : 9983671204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T fFE YER F aeg 27

Options:

1. « oo



2. v fecal

Question Number : 84 Question Id : 9983671205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SATHIUT & =Y T FIT Fel J1am 27
Options:

1 « ST

7 x SUSIOT-SANAS
3. % SATHIOTHAT

A. » STTHIOT

Question Number : 84 Question Id : 9983671205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SATSHIOT & = 1 FAT gl JAam 872

Options:

1« STERU-EEEE

b =
2. % CUTRIOT-HATAS



Question Number : 85 Question Id : 9983671206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“TEI-AE F SN AT AGET & Teleh 37 &1 272

Options:

1. » FOR ANRF SF FT

Y % HIS HEUl FT ITAT FIAT

7 o o1 ofed &R &

A « TA F EET S FH FE

Question Number : 85 Question Id : 9983671206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“TE-EET HT SR AT A FT Térw H FT 22
Options:

1. » R AAF 5F F&T

2« HIA FEYT HT 3IAET AT

3 ot ofdd oRT &



4w TETAT AR AR FH FE

Question Number : 86 Question Id : 9983671207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘R e § 3 @R T H T O T g2

Options:

4,J3-IEI#EF

Question Number : 86 Question Id : 9983671207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FafZar 3merrer # 33 @ B 9w # T O G @2

Options:

1_w'ﬂﬁlﬁ$

443—]3-?-{@7

Question Number : 87 Question Id : 9983671208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



B TeraT & T e &7 w1 §9 A0 ST 8 8450

Options:

1 » Tegar=es

Question Number : 87 Question Id : 9983671208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 Tehar & &5 @ 77 #1799 AT T &9 §960

Options:

1. v Wegar=®

2 % HIFATE®

Question Number : 88 Question Id : 9983671209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o =7 9r9a=T ST &y 9= 7 G ar &2

Options:



1 = ST Y F AN & FT THAT gl
3 . AT T TAT FGT WA TTAT|
3« F=Al o HAT F G

4. « T8 @z g

Question Number : 88 Question Id : 9983671209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forar &1 sraa=g 9aeT g I & G ar 22

Options:

1 x 39 FH P AT & W THAT g

5 o ST W AT LI WA 1T

3« A o AT H T

4. » TOE c@sar gl

Question Number : 89 Question Id : 9983671210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FiT TT T FuHaEE T=T 22

Options:

1 « 3 BohW faegmew @gt I



9w T A AT A@ A @

4 m?ﬁiﬂﬁmm%l

LY

Question Number : 89 Question Id : 9983671210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FiT TT T FuHaEE T=T 22

Options:

1 & 3 Bohy Taegme™ @@t 4

2w FATH AT FE AA @

3.« TG T AT A wEA AR s @

i o Fﬁ'qﬁﬁ'ﬁﬂﬁﬁmﬁl

o,

Question Number : 90 Question Id : 9983671211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FiT T e TATHAATHT e Fal 87

Options:

2. % B



Question Number : 90 Question Id : 9983671211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FiT TT e GATAIET TS A&l 87

Options:

1.« R

4, »

Question Number : 91 Question Id : 9983671212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘offer’ 9Teg T TATIATET S FHiT AT 272

Options:

Z'JW

3, « TREW



Question Number : 91 Question Id : 9983671212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘offel’ 9leg ST TITTSTET S HiT AT 272

Options:
"I . mﬂ'a?-r
2_ v IENOT

%

Question Number : 92 Question Id : 9983671213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T’ ereg FT TWISTET e &

Options:

1. « A=

Question Number : 92 Question Id : 9983671213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘TR oreg T TATERT EE &

Options:
1. = Qo=
2. v W
3. = diGd
4, = U

Question Number : 93 Question Id : 9983671214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HNTFIT ofeg FT [FeTH e FT 272
Options:

1. # IHATEFR

Question Number : 93 Question Id : 9983671214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ISR eg FT FIH Ueg F4T 272

Options:

1_%‘4@%



44?@%3’“7{

Question Number : 94 Question Id : 9983671215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T 9Teg T 9T oleg HiT & 87

Options:

Question Number : 94 Question Id : 9983671215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T 9TeE T [ ofeg FiT HT 27

Options:

1. « foa=s

7 w HOH



Question Number : 95 Question Id : 9983671216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT 2eE T A oeg T g7

Options:
1. & HRT

Question Number : 95 Question Id : 9983671216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BTUSIR A< FT [ ereg FAT @2

Options:
1. & 3T
2_ w o249y

3_ 2MEEd



Sub-Section Number: 2
Sub-Section 1d: 99836761
Question Shuffling Allowed : Yes

Question Id : 9983671217 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

Question Label : Comprehension



S ffF a1 seamyr FF TeaR Y@ T WAl # Feck
L

AT AT HR AT T F AL F FoATAT, AH AT
ar e & § w Edr SeEAeEr, 3§F ST ot
GE §¢ T | WA H gfaser Felr § W 30+ 7§y
#f 92 17 | 3g 3T & e ¥ e Afasw e & v
FiSeT HIAT, FAT TSHA FT @r 2l ARy § 98
TEEeEr A 99 W § fRg Ages 3R Fwom #T 9
FHAN & T g1 3T ARSI Ay, ARy, sa=ym,
s, o 3nfe @efr &=t 7 3roe gfasr sk afeg
& gl AT TEr 81 FT-FENal & a9l § JFd gl
a7 v et w R aifte ot @ &1 9
HR F=E I90T § g9 F1 gar off 3ua e
AR eATET 2o & @er §1 g At o
gaH g # 36 TRufd & A # 9@ #r ga-giar
¥, Alged ¥ T o TS FT feam &1 3TH F7Far
A IcHeT F T F Fo-S97 F F&EEE R
HITE g3 2| AlFd FTar 3R fFgerar & g g ar
HIeAEFAA $T & AR gatas gfaser &1 87
3HHT FHhod a1 74T ¢ fhg R-9fEr 3k aiER-
ufferT & HeuT T @I TUT T3 $ a=10 @
aifice-faate off 39 =t o afée &1 smerasaa Hr
T g §od oA Al & e g7 @l & amr
HTT BIeT| 3T HIEHaT HT & F qEST F+osf
TSI FHIAT g

Sub questions

Question Number : 96 Question Id : 9983671218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T FT ARSI AN H FAT FHEAC 27

Options:




1. » @& H NST-Fa=d g $r gAEar
7 % WHATAS AT FH THEIT

q i HO HTERIHAIHT B I FHr FHE

e AT & BT gy gyt gfiear
4 » @ fa=w & gaear

Question Number : 97 Question Id : 9983671219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e S HIT 92aT daT AN F HiT H
987 FHAR &7 | 87

Options:

1 o Fees 3R FHTOT H T6

2 x WET HR WR F IT-I@T F T
q . TR FEOTHT B e F I

A » TITOT ¥ HHAUT FlA H T8

Question Number : 98 Question Id : 9983671220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oMt 3T AfEF I90m @ Jioa #1 @R AR A1 F 5 e g2
Options:

1 » West @R faRt & oufaa w3




7w TR F T-EN AT & TheT gl

3 o FEEeE AR HAAIT gl

4 = T‘T—g‘-‘ﬁ?ﬁ & TUAT FT FE-hF F|

Question Number : 99 Question Id : 9983671221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At 3R sTaET # arfedr ¥ ardT A
e gr = B 7

Options:

1. » TATSS S o

3 .o qRaR $ gE-ghawr 3K AAeT ¥

3.« IS TETELY T /T A

4 « I TeA-forEs & FEr @

Question Number : 100 Question Id : 9983671222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FHF FFear § 75 FUAE HRET A F e T I A7

Options:

1 o HCACERAT ¥ FE-GRrns & e

9 FTEHCT T T & FHSAT FA



3.« S-Sad & TGS G &1 T8

HCHEFATA &7 T HT FHT=F Jiasar &1
4'5}'%?

Question Id : 9983671217 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)

Question Label : Comprehension



S ffF a1 seamyr FF TeaR Y@ T WAl # Feck
L

AT AT HR AT T F AL F FoATAT, AH AT
ar e & § w Edr SeEAeEr, 3§F ST ot
GE §¢ T | WA H gfaser Felr § W 30+ 7§y
#f 92 17 | 3g 3T & e ¥ e Afasw e & v
FiSeT HIAT, FAT TSHA FT @r 2l ARy § 98
TEEeEr A 99 W § fRg Ages 3R Fwom #T 9
FHAN & T g1 3T ARSI Ay, ARy, sa=ym,
s, o 3nfe @efr &=t 7 3roe gfasr sk afeg
& gl AT TEr 81 FT-FENal & a9l § JFd gl
a7 v et w R aifte ot @ &1 9
HR F=E I90T § g9 F1 gar off 3ua e
AR eATET 2o & @er §1 g At o
gaH g # 36 TRufd & A # 9@ #r ga-giar
¥, Alged ¥ T o TS FT feam &1 3TH F7Far
A IcHeT F T F Fo-S97 F F&EEE R
HITE g3 2| AlFd FTar 3R fFgerar & g g ar
HIeAEFAA $T & AR gatas gfaser &1 87
3HHT FHhod a1 74T ¢ fhg R-9fEr 3k aiER-
ufferT & HeuT T @I TUT T3 $ a=10 @
aifice-faate off 39 =t o afée &1 smerasaa Hr
T g §od oA Al & e g7 @l & amr
HTT BIeT| 3T HIEHaT HT & F qEST F+osf
TSI FHIAT g

Sub questions

Question Number : 96 Question Id : 9983671218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T FT ARSI AN H FAT FHEAC 27

Options:




1. « @& 8 QfiSa-9arsd g & gAEr

2« WHES AMNUT A FHEIT

q I HERIHRATHT BT I Fr FEE

¥ serfATar & v guy Fur gifdear
4. o % f=EE & gaer

Question Number : 97 Question Id : 9983671219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TWEaad $ AT g7 dGrT A% F HiT I
TeT HASR & W} 87

Options:

1 o Jged AR FTOT FT T6

2w wied 3R R F @I@T F IE

3 i HOer FeoTsl fr 9fd # e

A« TITOT ¥ HHAU FS FT 98T

Question Number : 98 Question Id : 9983671220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MR AR AT T90T F gFT F AR ARAT A A HE el g7

Options:




1 & HES AR R # RS #e|

D« Ue-forE FT UT-aR WO F HFed gl

3. » TEEEEr AR ATAFR gl

4 = IT-ZETAT & ST & FIe-thah

Question Number : 99 Question Id : 9983671221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At 3T coaET F Al & ST A
frod T ool IR

Options:

1. %« @AM SEd &

5 & giar # gE-glawr 3K 7AeT &

3. x HIA TAEST HT BT H

4 % HIA TeA-foEe & FE H

Question Number : 100 Question Id : 9983671222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FHIHFA [FFear F T HfAF ARET AN H Heped FAT qe A7

Options:




1« maqﬁ#mﬂ@u-ﬁﬁmaﬁﬁﬁam

o
5

HTEATT T & & AT FL

3w FE-SEd & TEIEe SeTd & oy

HCHTFATT #7 &1 AT gafas gfaser &

4. v T&T
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983671223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
T

If tan (7 cosB) = cot(m sind) . then the value of cos (EI = ;) is (are):

Options:

1. =

I+
ra | =

)
%

|+
il

Question Number : 101 Question Id : 9983671223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg tan (mcosP) = cot(m sind), ar cos (B — E) F/EF AT gl

Options:
1
_|__
1. = ~2
1
+—
2_ ® @ A2

0

%

-

e | =
t-al



1
+2
342

4, =

Question Number : 102 Question Id : 9983671224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

: : 2 :
The number of ordered pairs (x,y) , where x and y satisfy x +y = ?]T and cosx +cosy =— Is:

[ I ]

Options:
1.« 0

Zz w1

PJ
&
It

4. % infinite

Question Number : 102 Question Id : 9983671224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FHAT JEAT HT T (%, y), & x Ay, x+y=23—“3-ﬂ1'cosx+cosy=§aﬁﬁgﬁ'mﬁ:

Options:

1. ¢ 0

2. & 1



Question Number : 103 Question Id : 9983671225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Y12 cos™(x;) =0, then Y12 (x;) is:
Options:
1. 0

2, 10

'QJ
®
£

Question Number : 103 Question Id : 9983671225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qﬁ‘-E}:Dl cos (x) =10, HTZ;-l:Dl(x;:J %’:

Options:
1. = 0
2. v 10

E’_.O
®
LN

Question Number : 104 Question Id : 9983671226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A tower subtends angles ¢. 20 and 3¢ respectively at points A, B and C all lying on a horizontal line through the foot of
the tower, then AB/AC is equal to:

Options:



sin (3c)

1. & sin Qo)

9 u 2cos(2a)

14+ 2cos2a

3. ¢ 2(1+cos2a)

sin (2ct)

4 & sin (o)

Question Number : 104 Question Id : 9983671226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ue HIAN, FAA FT o, 20 AT 3o Fgat A, B 3T C ¥ 3aRd w2 § St A9 & a & =T
v dfafes mr av 2ug & a9 AB/AC gem:

Options:
sin (3o
"| % 5in (Z2a)

2 % 2co0s(2q)

1+ 2coso
3 ¢ 2(1+cos2o)

sin (2o
4_ % sin(o)

Question Number : 105 Question Id : 9983671227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Let A and B be the matrices of order n. If (I — AB) is invertible and (I — BA) is also invertible, then the value of

(I—BA)™ is:
Options:



9 & I—B(I—BA)™4A

A o [+BUI—AB)A

Question Number : 105 Question Id : 9983671227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 5 A AR B nFH & Hemg 81 TR (- AB) wfae = § 3R (- BA) & gfaehsw g8 (1 —BA)™

FT HATA I
Options:

1. = I
2 = 0

3 % I—B(UI—BA)'4A

4 o [+BUI—AB)'4A

Question Number : 106 Question Id : 9983671228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The values of “o’ for which the following equations
x+y+z=1
x+2y+4z=a0a

x + 4y + 10z = a2, have a solution?

Options:



4], » None of the other options

Question Number : 106 Question Id : 9983671228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘o’ FT A, T fore e e
x+ytz=1
x+2y+4z =@

x+4}f—1—'1ﬂz=a:2,ﬂt!'¥5?—r§"?

Options:

"I_ 8t H=D,1
2_ ® Ll"=.1,2
3. ® O= 2,3

4. ¢ TN ¥ Fg FA@r

Question Number : 107 Question 1d : 9983671229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The value of */." for which the set of equations
r¥+y+ez=3
Ix—hy+2z=»

5x —3y+4z =14 are consistent.

Options:
1. = 6

Question Number : 107 Question Id : 9983671229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0 F A A FL S e g sa=y
2t yFr=3
3x—by+2z=»

5x —3y+4z = 14 =aai 2

Options:

1. = 6
2. v 8
3 = 10

Question Number : 108 Question Id : 9983671230 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
1 -2 2

A= ! - 1 2 | . Then A is/an:
.

3
o .

Fe

Options:
1. » Idempotent Matrix

? % Involutory Matrix
3  Orthogonal Matrix

4. » Nilpotent Matrix

Question Number : 108 Question Id : 9983671230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 1 -2 2
ﬂﬁ'ﬂzg 4 aldArA. B
=8 B

Options:

L
1 & TOTEHA AT

N
g}
¢
i
I
2
¥
ap
o
i
[l
=
ol
%5

Question Number : 109 Question Id : 9983671231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



cosx —sinx 0
If f(x)=|sinx cosx 0 Then f(x+v) isequal to:
0 0 1

Options:

1. » fG+F)
2 & fX)—7F0)
3. v F.f)

4. % 1-7&x)/f0)

Question Number : 109 Question Id : 9983671231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

cosx —sinx 0

Ilﬁ'f(lf]=[sinx cos X U]. arf(x+y) Thaar gem:
0 0 1
Options:

1. &« f+FO)
2. x f—FO)
3. v F-fO)

4, » 1—f0)/fy)

Question Number : 110 Question Id : 9983671232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Complex numbers z,and z,are (3 + 5i) and (5 + 7i). If segment joining z,and z, is rotated by 15° about z; in

anticlockwise direction such that z; becomes z; then the value of z; is:

Options:
1. » (4+6i)

9 (4+V2)+6i
3 o (3+V2)+i(5++6)

4, » (4—6D)

Question Number : 110 Question Id : 9983671232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTETY TEATT z, AT 2, (3+51) 3T (54 70), o z, 3T 2z, = Bene ar @ zy W IEEy e &
15° =0 IR GF § &F 2z #T z3 @ ST &, o z3 FT A T

Options:

1 = (4+6i0)

9 & (4 ++/2) + 6i

3 o (3+vV2)+i(5+6)

4 = (4—60)

Question Number : 111 Question Id : 9983671233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 : : :
If w is a complex root of unity, then the equation |z — w|* + |z — w1| = A will represent a circle if:

Options:



A {}3
E('EJ

AE [z, o0)

2.«
2 % A€(0, 3)

4 x A€[, o)

Question Number : 111 Question Id : 9983671233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e w sméarwuﬁ&rnﬁ%a‘rmmm|z—w|2+|z—w2|2=,1wqﬁﬁﬁﬁam, Tfe:

Options:
3
|, AEOD
Le, »)
2. ¢ ?
A€ (0,3
g, » AEL0H

4 = A€ [1, x0)

Question Number : 112 Question Id : 9983671234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The centre of a circle represented by [z 4+ 1| = 2]z — 1| in the complex plane is:

Options:
1.5 0



Question Number : 112 Question Id : 9983671234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF TEAY 9 H |z + 1| =2|z— 1| @R AT TF o &7 F3 ¢

Options:

1. = 0
2. &« 53
3. = 13

Question Number : 113 Question Id : 9983671235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f—a

If o and B are two complex numbers such that |o=1. equals:

B|=1. Then the expression l

Options:
1. = 12

2. ¢ 1



(%]
®
|t

—
#
-
L

Question Number : 113 Question Id : 9983671235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe o 3R p 39 voR ar wfFEs wEe § & o=, |[3|=1%‘?—ITE&E|$|E__;; % TEX B
Options:

1. = 172

2. v 1

4. % 1/3

Question Number : 114 Question Id : 9983671236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A and B denote the coefficients of x™ in the binomial expansion of (1 + x)2" and (1+ x)?" ! respectivelv. then:

Options:
1. & A=B
? w% 2A=B

3 ¢ A=2B



4, &« A=4B

Question Number : 114 Question Id : 9983671236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR A FARBFAT 1+ AR +0> ATE TeH F 1" TR F TERT P Q. o

Options:

1. = A=B
? = 2A=B
3 ¢ A=IB
4. v A=4B

Question Number : 115 Question Id : 9983671237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The value of the expression x* — bx* + 33x — 19 , where x — 2 = bi ., is equal to:
Options:
1. = 12

2. 10

#
I
=

4.

Question Number : 115 Question Id : 9983671237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



0% T AT x® —5x2+33x—19 . F@Tx — 2 = 5i . & & &

Options:

T. =

Question Number : 116 Question Id : 9983671238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If z is a complex number satisfying the relation |z + 1| =z + 2(1 4+ i). then z is:

Options:

1 « ~(1+40)

i | ~(3 +40)

.o %(1—41‘)
1 .
4' - 5(3— 41)

Question Number : 116 Question Id : 9983671238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I z+ 1 =2z +2(1+ 1) T FT IS FA Tl T TloAH T ¢, O 2 &

Options:



1
> (L+4)

1 3
5, ;3+4D

3 v 3(1—45)

%(3—45)

- ae
&

Question Number : 117 Question Id : 9983671239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

z,,2, and z, are the vertices of an equilateral triangle inscribed in a circle |z| = 2 . If z; = 1 + i1/3. then the value

of z, and z, are:

(B =3 W3

(b) =2, iV3

(c) =2, 1—iV3

(d) —2, —i/3
Options:

1' ® _2r _l_lﬁ

2. % —% B3

3 v —2,1-i3

4 =« —2, —iV3

Question Number : 117 Question Id : 9983671239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



2y, Z, AR 23 TF IeF |z =2 # safee oF wHe e & M Rz =1+ V3 Az, 3Rz &

(a) -2, —1—iV3

(b) -2, iv3

(€0 -2 1—iV3

(d) -2 —iV3
Options:

1 %« —2 —1-i/3
2 % —2 iV3
3 v —2,1-1/3

4, = —2,-iV3

Question Number : 118 Question Id : 9983671240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

11 11
4 i 1 e = 3 1 :
If the coefficients of x” in (ax2 + b—) and the coefficients of x~7 in (ax = ;) are equal, then ab is equal to:
X X

Options:
1.« 1



Question Number : 118 Question Id : 9983671240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg (axzﬂl—i) Hqx! & EEW 3T (ax—#)ﬁﬁ'x_? + E;l'UTIE CRICES %’ ar ab & sTET Eﬁ'ﬂT:
Options:

1. ¢ 1

[

2. =

Question Number : 119 Question Id : 9983671241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If coefficients of 229, 374 and 4t term in the expansion of (1 + x)*™ are in AP, then:
Options:
1. & 2n*+9n+7=0

2. 2P —9n4+7=0
3 w8 2nP—9n—-7=0

4 % 2n*4+9n—-7=0

Question Number : 119 Question Id : 9983671241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o (1+ 02 F gaw F X, STaﬂTﬁtraa:T:rﬁa:A.P., g ar

Options:



1. & 2n*+9n+7=0
2.« 2n°—9n+7=0
3 % 2n2—9n—-7=0

4d = 2n*+9n—-7=0

Question Number : 120 Question Id : 9983671242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. i 2 : F
If the r™ term in the expansion of (g — =)' contains x*, then r is equal to:
X

Options:
1. = 4

2.« 3

Question Number : 120 Question Id : 9983671242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

uﬁ(g—j—zj‘“#mﬁrmqaﬁxﬂ%, 3 r & SUET T
Options:

1. = 4



E._AJ
&
()

:h.
#
Lh

Discipline2
Group Number : 7
Group Id: 99836723
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline?2
Section Id : 99836729
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836763
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9983671243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. : 1 T 2 .
If the fourth term in the expansion of (px + )—‘)“ is independent of x. then the value of the term is:



Options:

1. =

Lh
=

? % 10p?

3 ¢ 20 p?

Question Number : 121 Question Id : 9983671243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

:r%(prj" % YOR H =TT 9€ x. ¥ TE4T ¢, 8 9 FT AT g

Options:

1. » 57
2. = 1oy
3. v 20p°
4 = 25p°

Question Number : 122 Question Id : 9983671244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum Y7, 7.2n, _ is equal to:

Options:

1' v 7. 22n—1



2' pn 221'1—1
3 % 2Elgq

4 % 2m1-1

Question Number : 122 Question Id : 9983671244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X1 r.2nc T AT fFEE WER g2
Options:

-'I. v n__zzn—l

2. W 2211.—1

3. 0% 2141

Question Number : 123 Question 1d : 9983671245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
n(= 3) persons are sitting in a row. Two of them are selected at random. Then the probability that they are not together is:

Options:



n+2

3.8 n
nt1
4. % n

Question Number : 123 Question Id : 9983671245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

n(z3) =oFa vE qied H 35 §| 3AH @ & T ATeoH I AT gl O 346 T A 7 g B
STiAehdr Tehdat g

Options:
n—1

1. %

T+

n+1

Question Number : 124 Question 1d : 9983671246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3
2

and P(A'NnB)=— thenP(A) is:

A and B are two independent events such that P(AN B) = %

]

Options:

1. % 2

2. i 11



Question Number : 124 Question Id : 9983671246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A3 BEH PR & TEaT "eAT § & P(Anﬁjzi A PA'nB)=2 Tr P(A)BRT:

25
Options:
11
1. = =25
2
A w dg
3
3 e 11
1

:h.
g}
=
=

Question Number : 125 Question Id : 9983671247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of 20 positive integers two are chosen at random, then the probability that their sum is odd is:

Options:

1. & =0



10

19

Question Number : 125 Question 1d : 9983671247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

20 o YOiee! H ¥ &5 & TEfeos & § IAT 9147 ¢, af 3 AT ww g & wiferar gef

Options:

1. = =20

10
3, o 19

19
4. v 20

Question Number : 126 Question Id : 9983671248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. T — — 1 i 1 : G
A problem in statistics is given to three students whose chances of solving it are _, : and PE What is the probability
that the problem will be solved? i}

Options:

1.

B |

b |

2. %



wo| e

e
§
= | o

Question Number : 126 Question Id : 9983671248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Gﬁﬁmﬁrmwwam%@ﬁﬁaﬁﬁmmﬁ,ﬁmﬁzmsﬁgﬁmﬁm%,
g1 T T TS F fhFar Fraar g

Options:

1
g

i
3

1
1. = 2
1
A w A
z
. T T
.
4, v 4

Question Number : 127 Question Id : 9983671249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four persons are chosen from a random from a group containing 3 men, 2 women and 4 children. The chance that
exactly two of them will be children is:

Options:
iz

1. % 2

11

2w 21



10

Question Number : 127 Question 1d : 9983671249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 qwSl, 2 AfgEnat, 3R 4 F=41 a0 % FAE § AN SAFadl H AEeow ®9 @ IAT T4 g 3AA H &
F T== gl 7 gifderar e e

Options:
12
T = =1
11

10

Question Number : 128 Question 1d : 9983671250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The distance between the straight lines represented by x? + 24/3xy+ 3y —3x—3+/3y—4 =0 is:
Options:

1. =

[ I ]



b |

Question Number : 128 Question Id : 9983671250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

x? +2v3xy + 3y? —3x —3Y3y —4 = 0 ZIRT la @l Tt F 9 Fr g &

Options:

i & 18
5w 32
3. ¢ 52
A ® 702

Question Number : 129 Question Id : 9983671251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Locus of the middle points of all chords of the parabola y* = 4x which are drawn through the vertex is:

Options:
1. ¢ pE =%
2. % ¥ =8x

3 x x°+4y°=16



Question Number : 129 Question 1d : 9983671251 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
ey =4x & welr A F Ay g w1 Rguy, 5w oy @ e e g

Options:

1. v ¥ =2

2 % v:=8x
3 x xX*+4y*=16
4. % xz == 21-'

Question Number : 130 Question Id : 9983671252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If the focal distance of an end of the minor axis of an ellipse ( referred to its axes as the axes of x and y) is k and the

distance between its foci is 2h. then the equation of the ellipse is:
Options:

X ¥ = 1

4' \."?? 2 + FZ_R2




Question Number : 130 Question Id : 9983671252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& v &g & Y 38T F TH OR H Behe gU (30 Hal AW B x 3R y 3T & w9 A ool
frar e 8) k & 3R TR sUF FemF ¥ gl 2h 2, o Enfged F AT g

Options:

T: » Ted nE

o
=
=

(]
-
B3 |
=
(]

|
=

4. v etem=1

Question Number : 131 Question Id : 9983671253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The equation of the hyperbola referred to its axes of coordinates whose latus rectum is 4 and eccentricity is 3 is:
Options:

2 2
1. » 16x°+2y“=1

4 » 16x*—2y*=1

Question Number : 131 Question Id : 9983671253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e e et T Aftse ve wEew # wAE, SEE oF oiEte 4 AR 3EREaT 3 §

Options:

1. = 16x°+2y%=1

2 x 2x*—16y*=1

3 x dx*—16y*=1

4. » 16x*—2y*=1

Question Number : 132 Question Id : 9983671254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The length of the perpendicular from the point P(1,2,3) on the line ":6 = = is:

Options:

1. = 2V5

#

2. v 3V

3« 45

#

4, = 5V5

Question Number : 132 Question 1d : 9983671254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

war 0= 220 o faig P(1, 2, 3) ¥ wfdeiw #r war$ g

1

Options:



Question Number : 133 Question Id : 9983671255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

: ; . . x=1  y+1 z-3 ;
The equation of the plane passing through the straight line ~—— =2 +1 = ZT and perpendicular to the plane

x+2y+z=12 is:

Options:
1 « 9x—2y—5z+4=0

2 % Ix+2y—5z+4=6
3 % Ix+2y+5z—-4=0

4 % 9x—2y—5z—4=0

Question Number : 133 Question Id : 9983671255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WT@T’C_1=E=Z;—3 AT FT x+2y+z =12 & HfAEI TS T T FHIOT G

2 —1

Options:

1. » 9x—2y—5z+4=0



2 x 9x+2y—5z+4=6

3« 9x+2y+5z—4=0

4. = 9x—2y—5z—4=0

Question Number : 134 Question 1d : 9983671256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The radius of the circular section of the sphere
x*+y*+z2—8x+4y+8z—45=0 cutbythe planex —2y+2z=3 is:
Options:

1. » 4V3

2. v 45

3 x W7

4, » 411

Question Number : 134 Question Id : 9983671256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qel x—2y+2z=3 T FE AT A x> +y° +2°2 - 8x+4y+8z—45=0 F Foarg TE F FF=ar gem:

Options:

1, » 43

D. ¢ M5



Question Number : 135 Question Id : 9983671257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

lim tan x log, sin x is equal to:

4
x—o—

&

Options:

1. = 1

ra g

Question Number : 135 Question Id : 9983671257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

liﬂ;lrtanxloge sin x & SIS g

x——

Options:

1. = 1

R



Question Number : 136 Question Id : 9983671258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 1
i 3+a3 ;
Let f(x) = tan™' =55 then f'(x) equals:
1-x3a3
Options:
s
1
1 W 1+x3
1

9w 3(1+23)

1
2 =

1
2 1
4 w 3x3(1+23)

Question Number : 136 Question 1d : 9983671258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & f(x) = mn“ﬁ;fi ar f(x) % sUET gem:
1—x3a3
Options:

1. & 1423



2. ® 3(1+x3)

1
o
3.« 3x3(1+x3)

1
2 1
4_ # 3x3(1+x3)

Question Number : 137 Question 1d : 9983671259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

! _x :
The line = + f =1 touches the curve y = be~ /a at the point:
a

Options:

1. v ©5)

Question Number : 137 Question Id : 9983671259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W =—+>=13F y=bhe /o F 7 Bg W w7 = &
Options:

1. v @b



g w @;
4_ #® (D, (1)

Question Number : 138 Question Id : 9983671260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&l 2 gnd i
The minimum value of 3{&" -2 +8} js.
Options:

1.« 3°

2 w 37

3 x 32

4, % 3

&

Question Number : 138 Question Id : 9983671260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2-2)%+8 -
3" -2)°+8) T FPATH H g

Options:
1. » 3°

2w 3t



Question Number : 139 Question Id : 9983671261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

J~ .s*x(xE +1)
(x+1)2
Options:

dx equals to:

x+1

1, = (E)ex—l—c
2 w x—1)e"+c

x—1

ko] [ o
3 L (x+1)€ +e

4 w ZH1)e“Ec

Question Number : 139 Question Id : 9983671261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

J-ex{xz +1)

2 x (xXx—T1e*+c



(e
3. ¢ \x+1

4 x (x+1e* +c

Question Number : 140 Question Id : 9983671262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

d
The value of [ = fn sl

T ey iSZ
0 1+cosx

Options:

s
1. = 2

S

H_I

2. ¢ 22
2

—T

3' ® 242

Question Number : 140 Question Id : 9983671262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I=["2%_ 7 A7 gom

0 1+cos2x

Options:
T
1 . = 242
:ITZ

N
S
B
ral
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Discipline3
Group Number : 8
Group Id: 99836724
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline3
Section Id : 99836730
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 99836764
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 9983671263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the full form of ENIAC, the world’s first general purpose computer?
Options:
1. « Electronic Numerical Integrator And Computer



2 w Electrical Numerical Integrator And Computer
3 % Electronic Numerical Integration And Computation

4. » Electrical Number Integration And Computation

Question Number : 141 Question Id : 9983671263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAT 36827 8 2T & TUH FogeX ENIAC &1 T 1H F37 87

Options:

1 o TR wgAREe $RI U F

o

D FOlHCEE TTANG gfeae U8 F°gH

% Soagleieh ~gH el S[CIRA TS FFILqd

% e Solfgehel HaX SicaRld US :ecgeeld

Question Number : 142 Question Id : 9983671264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the columns:

LIST-A LIST-B

(i) Punch card (a) Blaise Pascal

(i) Difference engine (b) Charles Babbage
(ii1) First mechanical (¢) Herman Hollerith

adding machine
Options:
1. = (1) —(a). (i) —(c), (iii) — (b)



2 % (D)—(b), (i) (a), (iii) — (c)

3 x (D)—(c), (i) —(a), (iii) —(b)

4. » (D) —(c). (i) —(b), (iii) — (a)

Question Number : 142 Question Id : 9983671264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e =
T - A T - B
(i) o= FE (a) =oIT UTEFA
(i) Brim 5o (b) TH S=F
(i) 9uF TMEE 8 7w (¢) &3FAF gy
Options:

1. « () -(@), (i) - (c), (iii) - (b)

2. w (1) - (b), (i) - (a), (i) - (c)

3, = () - (c), (ii) - (a) (iii) - (b)

4, » ()= (c), (i) - (b), (i) - (a)

Question Number : 143 Question Id : 9983671265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an output device?

Options:



1. # Monitor
2 % Projector
3 . Image scanner

4 % Plotter

Question Number : 143 Question Id : 9983671265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s 7 @ Fi7 T 3msTye Rasw a6 22

Options:
1. = #IE
2 x Hewel

Question Number : 144 Question Id : 9983671266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about laser printers is FALSE?
Options:
1. » Laser printers are page printers.



2 w Laser printers can print special characters.
3 Laser printers are an example of impact printers.

/. % Laser printers are more expensive than drum printers.

Question Number : 144 Question Id : 9983671266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AT F I & AT § T ST O U7 79 87

Options:

1. = oY OeT o9 B g 2

2w o BT TRy Feed B w1 gl

3 o oo B sFee WX # s 2

4, » R B 37 B ¥ H#ow 7@ @ £

Question Number : 145 Question 1d : 9983671267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are tue?

(i) Hand-held scanner is a type of digitizer.

(ii) Universal product code is the most widely used bar coding system.
Options:
1. = Only (i) is true

2 Only (ii) is true



3 = Both (i) and (ii) are true

A, % Neither (i) nor (ii) is true

Question Number : 145 Question Id : 9983671267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeT & @ 37 I Fua wér 337

(i) E5-85 Thal T T & TBferersa 2iar 2l
(il) Zf=de Wisee &=, §Q ST 394197 BRaT S JTeT aR HifEer fawed gl

Options:

1. = e (i) WET &

2, Fa (i) T E

3.« () 3 () e T

4, « @G (i) @ 8 (i) W R

Question Number : 146 Question Id : 9983671268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the columns:

LIST-A LIST-B
(1) Monitor (a) Dot-Matrix
(ii) Printer (b) Cathode Ray Tube
(i11) Plotter (c) Flatbed
Options:

1. = (1) —(a). (i) —(c), (iii) — (b)



2 & (1)—(b), (il) —(a), (iii) —(c)

3 x (D)—(c), (i) —(a), (iii) —(b)

4w (D—(©). (i) - (b, (iii) - (a)

Question Number : 146 Question Id : 9983671268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e *:3
= - A =T - B
(i) HeeT (a) sie-Afesw
(iy feT (b) =S Y TTE
(iii) wemex (c) wereas
Options:

1. = (@) - (@), (ii) - (c), (iii) - (b)

5 o () - (), (i) - (), (i) - (c)

3, = () -(c), (ii) - (a), (iii) - (b)

4, = () -(c), (ii) - (b), (iii) - (a)

Question Number : 147 Question 1d : 9983671269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Operating system is an example of

Options:



1. « System software

2 % application software

3 utility software

4 = firmware

Question Number : 147 Question Id : 9983671269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

N A=sw FT TF ISTEI0T 2

Options:

1. v T&Fed gweam

2w TR HFEaUT

Question Number : 148 Question Id : 9983671270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a hardware component in a computer?
Options:
1. % Operating system



2 w Basic input/output system
3 . Central Processing Unit

4], » Compiler

Question Number : 148 Question Id : 9983671270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & & #iF 1 T FUET H AW TF 87

Options:

1. = AR Bres

Ll B CELEDS R

Question Number : 149 Question Id : 9983671271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are FALSE?
(i) RS-232 is a standard used for parallel transmission of data.
(i) Network Interface Card is also known as a LAN adapter.
Options:
1. ¢ Only (1) is false

2 % Only (ii) is false



3 = Both (i) and (ii) are false

4. % Neither (i) nor (ii) is false

Question Number : 149 Question Id : 9983671271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 ¥ =iF 9 =24 7og 222

() RS-232 9T # AR THAYS F AU ygaa vk AFF gl
(i) ea® SeThH F1s, LAN 35T & Fgamar g

Options:

1. » ae () Ted &

2« ae (i) TET &

3« () 3R (i) & T

4. « @ ar (i) &g (i) Toa g

Question Number : 150 Question Id : 9983671272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the contents of LIST-A with the items in LIST-B with respect to OSI model:

LIST-A LIST-B

(1) Router (a) Network Layer
(11) Switch (b) Physical Layer
(1ii) Hub (c) Data Link laver

Options:



1. « (1) —(a). (i) —(c), (iii) — (b)
2 % (i) —(b), (i) —(a). (i) —(¢c)
3 = (i) —(c). (i1) — (a), (iil) —(b)

4. = (1)—(c). (i) —(b), (iii) — (a)

Question Number : 150 Question Id : 9983671272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T -A # R gl #1 0S| Al & wesT # T -B # Rw wdl & e &t

o= -A o= -B
(i) I3 (a) #FEae JTT
(i) TEa= (b) TrfEwrer aTT
(i) =& (c) =reT o I
Options:

1. « () -(@) (i) - (c), (iii) - (b)

2. w (1) - (b), (i) - (a), (i) - (c)

3, = () -(c), (ii) - (a), (iii) - (b)

4, =« ()= (c), (i) - (b), (i) - (a)

Question Number : 151 Question Id : 9983671273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a valid Windows version?

Options:



1. # Windows NT

? % Windows 95

3. % Windows 2000

4« Windows 2002

Question Number : 151 Question Id : 9983671273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o ¥ T v Sy e g i P

Options:
1. » W= NT
2« = 95
3. » fdsr=r 2000
4. » == 2002

Question Number : 152 Question Id : 9983671274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about Windows 8 is FAL SE?
Options:

1. = It was launched in 2012.

? . ltisnota part of Windows NT family of operating systems.



3 Itincludes a faster startup through UEFI integration.

4. = It also has a mobile version.

Question Number : 152 Question Id : 9983671274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 8 a0 &7 T & ¥ &9 I 39 794 &

Options:

1« B9 2012 & @m= fFar )

2 o T GE= NT ARfér fames REr #1 350 747 2

3 F9H UEF| $f&ne anr ve #fes o weresy afae g

A« FHE TH HESe GET 8 g

Question Number : 153 Question Id : 9983671275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are FALSE?
(i) Windows 8 does not have a Start menu button.
(i) DOS is a multi-tasking operating system.
Options:
1. = Only (1) is false

2 . Only (ii) is false

3 Both (i) and (ii) are false



4 = Neither (1) nor (ii) is false

Question Number : 153 Question Id : 9983671275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ +iF O Fua Tog 227

(i) fosi=r 8 & wre A Fea 7@ @il

(i) DOS TH Avdl-clEhT HfT Frea g
Options:

1w ae (i) Ted &

2 Had (i) TS €

3« () 3R (i) S 7T 7

4. « @ ar (i) &g (i) T g

Question Number : 154 Question Id : 9983671276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are true?

(i) Windows is a proprietary operating system.

(if) In Windows 10, a hard disk can have a maximum of four primary partitions.
Options:
1. » ©Only (i) is true

2 % Only (ii) is true

3 . Both (i) and (ii) are true



4 = Neither (1) nor (1i) is true

Question Number : 154 Question Id : 9983671276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & ¥ #iF T FuT T T2

(i) Es v ARga dRRET Rea
(i) == 10 &, v gE BrF F 3UFarn 9 @ 9nT (IEAT Tfés) g9 31 @6 2

Options:

1. = I (i) WET &

2.« Fad (i) W E

3. » () 3R (i) O wdr ¥

4, = @G () (i) FEE

Question Number : 155 Question Id : 9983671277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an email service?
Options:

1. = Outlook.com
? % Yahoo! Mail
3. % Zoho

4.« Baidu



Question Number : 155 Question 1d : 9983671277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T § ¥ FiF T SHe Q9 F9

Options:

1. & OQOutlook.com

7 % Yahoo! Mail

3 = Zoho

4. « Baidu

Question Number : 156 Question Id : 9983671278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the full form of IMAP?
Options:
1. » Intranet Message Access Protocol

7 Internet Message Access Protocol

3 Intranet Message Accept Protocol

/. » Internet Message Accept Protocol

Question Number : 156 Question Id : 9983671278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IMAP &7 1 AT &7 g7

Options:



1« TP FT AW WA

5, e FT T e

3 x FEWC HAS TFEE WS

A« 3EAC HAWS THFAE SHIernie

Question Number : 157 Question Id : 9983671279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are FALSE?
(i) Mosaic was a graphical web browser.
(ii) Tim Berners-Lee is said to be the “father of WWW",

Options:
1. = Only (1) is false

2w Only (i) is false
3 % Both (i)and (ii) are false

Vi Weither (1) nor (1i) is false

Question Number : 157 Question Id : 9983671279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o/ 7 ¥ =iF I Fu9 7o 2127
(i) ATSTSH T AMThepel 99 3T 2T
(i) e s=a-3ir =7 ‘WWW T =T Fgl 1T 2

Options:




1« 9 (i) 7o §

2« Had (i) T §

3« () 3R (i) I TS B

4. » & ar (i) = g (i) 7o

Question Number : 158 Question Id : 9983671280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Match the columns:

LIST-A LIST-B
(1) DHCP (a) Dynamic routing protocol
(11) RIP (b) Transport laver protocol
(ii1) UDP (c) Network management
protocol
Options:

1. = (D) —(a). (i) —(c). (iii) — (b)

2. » (1) —(b), (i) —(a), (iiD) — (c)

3. (D —(c). (i) - (a), (iii) — (b)

4. » (1)—(c), (i) —(b), (iii) — (a)

Question Number : 158 Question 1d : 9983671280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FRICRCTs

o= - A =T - B

(i) DHCP (a) STEATHF TBfEEE

(i) RIP (b) TTHUIE ATT FrIeThiel
(iii) UDP (c) #ATTH gauUF FErHeT
Options:

1. = ()= (@), (ii) - (c), (iii) - (b)

2. « (@) - (), (i) - (a), (i) - (c)

3.« () - (c), (i) - (a), (i) - (b)

4, = () -(c), (ii) - (b), (iii) - (a)

Question Number : 159 Question 1d : 9983671281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a part of the Microsoft Office suite?
Options:

1. # Access

? % OneNote

3. % Publisher



4 « Oracle

Question Number : 159 Question Id : 9983671281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & @ Fla AzFETe AfGT 3T F1 607 7 22

Options:

Question Number : 160 Question Id : 9983671282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the default text alignment in Microsoft Word?
Options:
1. « Left

2 % Right

3. ® Centre

4. » Justify

Question Number : 160 Question Id : 9983671282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ASHAYE 95 H BWice ST TAISAHT i AT giar g2

Options:
1. v ®WHE
2 « UsC

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:

Discipline4

9
99836725
0

0
No
No
0
20
No
Yes
0

0

Discipline4

99836731
1

Online
Mandatory
20

20

20



Sub-Section Id: 99836765
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9983671283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Microsoft Excel is a/an
Options:
1. « application software

7 x system software

3. # firmware

programming software

#

<,

Question Number : 161 Question Id : 9983671283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AEFETe TFad TF gl

Options:

1. v TUlSehea ATFeaTT

2w O goeaww

3_&@#&?

4. w SENTET WHEAET

Question Number : 162 Question Id : 9983671284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a valid function in Microsoft Excel?

Options:



1. & SUM

% % AVERAGE

3. v DIVIDE

Question Number : 162 Question Id : 9983671284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ASHIETe T H &9 #§ ¥ Fi9 U 39 G 74r 87
Options:

1. = SUM

2 % AVERAGE

3. v DIVIDE

4. = MIN

Question Number : 163 Question 1d : 9983671285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In Microsoft Excel 2016, which of the following is NOT a valid category of function library under the Formulas tab?

Options:

1. # Financial

2 g Logical



3. % Text

4. « Number

Question Number : 163 Question Id : 9983671285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTEHETE THEAA 2016 #, TET F W ST G T F HAIT BT wgadr H U Jer Sofr 76 82

Options:

Question Number : 164 Question 1d : 9983671286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which function will help you find the current system time in Microsoft Excel?
Options:
1. = =currentTime()

2 % =time()

3 =now()

4. » =thisTime()



Question Number : 164 Question Id : 9983671286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATSHIHETE THFe H Sl O BRld oA BT TRT A &l H HIH A FIaT g7

Options:

1. = =currentTime()

2 & =time()

3. =now()

A« =thisTime()

Question Number : 165 Question Id : 9983671287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a correct power function syntax in Microsoft Excel?

Options:
1. v =POWER(2.3)

=POWER(2%3)

:

2

=POWER(2"3)

o
%

4 % =POWER(2%*3)

Question Number : 165 Question Id : 9983671287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATZhEYE TFd H &8 # ¥ #i9 U+ Tgr 991 v Heaq 272

Options:




1 o =POWER(, 3)

5 & =POWER(2+3)

3 =POWER(2"3)

A % =POWER(2:+3)

Question Number : 166 Question Id : 9983671288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are tuue?
(i) In Microsoft PowerPoint 2016, “split’ is a type of entrance animation.
(if) In Microsoft PowerPoint 2016, motion of an animation can follow a loop path.

Options:
1. = Only (1) is true

2 Only (ii) is true
3 Both (i) and (ii) are true

4. » Neither (i) nor (ii) is true

Question Number : 166 Question Id : 9983671288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & ¥ T T FuF T
(i) HTSHIETFE gratcarse 2016 H, fHafoe’ o 9o &7 vdg viaaee g gl
(i) ATSFIETTE Slacage 2016 H, TR i afd T TU & FIEOT F{ Thal g

Options:



1. = Faer (i) TET @

2. % e (i) HErE

3. » () 3R (i) = W

A, w () 7 E (i) FEE

Question Number : 167 Question Id : 9983671289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of the following Microsoft Excel formula?
=216/2"4/2
Options:

1. # 68024448

% 675

Question Number : 167 Question Id : 9983671289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o AEFETe TR e 1 A Shadr gem?
=216/274/2

Options:

1. « 68024448



2. v 6.75

Question Number : 168 Question Id : 9983671290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With respect to computer systems, what is the full form of BIPS?
Options:

1. « Billion Instructions Per Second

? w Binary Instructions Per Second
3 u Big number of Instructions Per Second

4. » Billions of Inputs Per Second

Question Number : 168 Question Id : 9983671290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

w4y TeAl & Hed #, BIPS &7 U aA17 47 g7

Options:

1 » hfens s W &Fs

Dy SISAL SEEENT T TFE



3w [T HAET HF SEHUA W WS

3 faferaer saqe o aes

Question Number : 169 Question Id : 9983671291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the full-form of WiMAX?
Options:
1. » Worldwide Interoperability for Media Access

? ® Worldwide Internet for Media Access

3 Worldwide Interoperability for Microwave Access

4. » Worldwide Internet for Microwave Access

Question Number : 169 Question Id : 9983671291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WIMAX & T ATH &2

Options:

1« dcsarss sewieffad v Hfsar twvw

2y FosaTSE FIHAC BN HISAT VERH

3, dFcadEs sEHMRfRE B ASHET tFaH



4w Fc2d8S SETHC BN AEHET TFAH

Question Number : 170 Question Id : 9983671292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

State whether the following statements are true or false.

(i) FORTRAN stands for Formula Transmission.
(i) COBOL stands for Common Business Oriented Language.

Options:
1. % (i)—True, (ii)—False

. (i) — False, (ii) — True
3 u (1) —True, (i) — True

4. = (i) — False, (ii) — False

Question Number : 170 Question Id : 9983671292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaT & e Fu9 TEr § Y= Teg)

(i) FORTRAN & 1% W@ ZIAAY gar gl
(il) COBOL & 3% #1A7 fasay 3fives e 2ar g

Options:

1. = () - =6, (i) - 7007

2. » (i) -7=a, (i) - T



Question Number : 171 Question Id : 9983671293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NOT gate is also known as
Options:
1. » Amplifier

? % Transistor

3. « Inverter

4] = Converter

Question Number : 171 Question Id : 9983671293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NOT & T Fgemar 2
Options:
1. » TFABRR



Question Number : 172 Question Id : 9983671294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a NOR gate. output will be high when input is
Options:
1. « 0.0

Question Number : 172 Question 1d : 9983671294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NORﬁEﬁ,EFI‘gE‘ gl I 33eYC U grem|
Options:

Ts o B8

o B & U |

3.« 10

Question Number : 173 Question Id : 9983671295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



How many two inputs AND and OR gates will be required for FFAB+CD-+EF?
Options:
1.« 3

.2

&
[

2. %

(A
B
|t
L]

Question Number : 173 Question Id : 9983671295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foraer a1 s79e AND 3X OR ¥ F=AB+CD+EF % faT 3maeass gier?

Options:

1. v 32
2. % 2.2
3. & &3
4, = 33

Question Number : 174 Question Id : 9983671296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A full adder logic circuit has
Options:
1. » 2 inputand | output line



? w 3inputand | output line
3 % 2 inputand 2 output line

4. » 3input and 2 output line

Question Number : 174 Question Id : 9983671296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF T T e @iee & g B
Options:

1 = 2 39T 3R 1 313EqE A

5 3 eTqe AR 1 3M3TqE A

5 2 5oT9e AR 2 3M3TqE A

B o 3 se9e AR 2 3MBeqe A

Question Number : 175 Question Id : 9983671297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a transport layer protocol in TCP/TP model?
Options:
1. = TCP

? % UDP



3. % SCTP

4. v BOOTP

Question Number : 175 Question Id : 9983671297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TCP/IP Ase H @7 & ¥ FiF T&F @G JOT Qe dAdl 87

Options:
1. « TGP
5 ' UDP
3 & SCTP
4. + BOOTP

Question Number : 176 Question Id : 9983671298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following network topologies generally possesses maximum number of links?
Options:
1. & Star

? % Bus

3 x Ring

4 « Mesh



Question Number : 176 Question Id : 9983671298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 O g Fcas IO # JHAGR ¥ 39¢an g=ar # O g9 &2

Options:

1. » ®R

2. » w9

Question Number : 177 Question Id : 9983671299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

State whether the following statements are true or false.

(i) *Twisted Paw’ is a guided transmission media.
(i) Radio waves are omni-directional.

Options:

1. % (i)—True, (i) —False

2 w (i)—False, (ii) —True

3 v (i) — True, (ii) — True

4 = (i) — False, (ii) — False

Question Number : 177 Question Id : 9983671299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TaT & e Fy9 TEr § 3HyEr Teg)

(i) feases T w wmsss gEfAee A g
(i) Y32 a%er, ge-ferers 2 2
Options:

1. = () - =&, (i) - o

Question Number : 178 Question Id : 9983671300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a multi-valued attribute?
Options:
1. % Date of birth

? % Name

3 Mobile number

4 % Father’s name

Question Number : 178 Question Id : 9983671300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 7 ¥ #i9 wF Aed-3egs UiEge 87

Options:




1. %= S=F & 0@

3. o HEES 7R

A« T AR

Question Number : 179 Question Id : 9983671301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following SQL commands is used to delete all the records from the table of a database?

Options:

1. ® Delete
2 u Drop
2w Purge

4« Trncate

Question Number : 179 Question Id : 9983671301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & @ " SQL FHE F 39GT UF W FH diic ¥ TR e Feaa & P G amar 32

Options:
1. = Delete



2 « Drop

3 & Purge

4. « Truncate

Question Number : 180 Question Id : 9983671302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is/are tue?
(i) Every relation in BCNF form is always in 3NFE.
(i) BCNF stands for Bovee-Codd Normal Form.

Options:
1. = Only (i) is true

2 % Only (ii) is true

3 . Both (i) and (ii) are true

4. » Neither (i) nor (ii) is true

Question Number : 180 Question Id : 9983671302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ iF 3 Fua "5 2E?

(i) BCNF & ¥ 3% ¥99 Ted 3NF & Zar 2
(i) BCNF & ¥ STO8-HI5 AHe BH 2T ¢l

Options:



1« 9 (i) WEr g

2. % e (i) HErE

3. o () A (i) 2w ¥

4, w () e (i) TEE
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Question Number : 181 Question Id : 9983671303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an application program used in a total station to perform coordinate geometry calculations:

Options:
1. & ARCPAD

2

7 % POGO

3 « COGO

i

4. % INCOD

Question Number : 181 Question Id : 9983671303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frerms sfadT oA T ¥ BT e # ¥ 5w oRadee 9ere & 399 dew 2o § R
T &
Options:

1. = ARCPAD

2 % POGO
3. ¢ COGO
4 % INCOD

Question Number : 182 Question Id : 9983671304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Optical plummet is used in a total station:

Options:



1. = foraccurate levelling at a station
2 foraccurate centering over a station
3 fortaking observations without a target

/. w for precision setting

Question Number : 182 Question Id : 9983671304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2T T H HICeshd SoTHE &1 39d1eT fHar JaT &

Options:

1. & TEIF I T i & T
2 o TOA W Tl deiE & fow
3« &g & §ar geor o & o

4 = qﬁﬂﬁwa?%ﬂ

Question Number : 183 Question Id : 9983671305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Reducing slope distance to horizontal and vertical distances is done in a total station by:
Options:

1. & data collector



7 x automatic compensator

3. % EDM in alidade

4. » microprocessor in the control panel

Question Number : 183 Question Id : 9983671305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ded T H afafas 3R 3T gl W ae @ gff wes & w3 AE gEnr R aer g
Options:

1. = EaT FeleFel

2 x TEEIeT FEEH

3w Ufoss # 35U (EDM)

4. » A UTS H ABHEEA

Question Number : 184 Question Id : 9983671306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following statements pertain to reduction of errors in measurement in total station surveying.

S1: Taking measurements only in direct mode.
S2: Taking measurements only in reverse mode.
S3: Taking measurements both in direct and reverse mode.

Choose the correct statement(s).
Options:
1. » Slonly



2 w S2only
3 » S3only

A % SlandS2

Question Number : 184 Question Id : 9983671306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Fuw, dear Ruw FAA0T FE H AGS H A FA A § FaOd g
S1: %ad SO AS H AGS o

S2: FHgd Iy Az & AT 4

$3: e AR REw = #F & AN o)

T FHAAE) F A

Options:
1. » &I ST
2. % FHad S2
3. v Fae S3
4. = S1 3Rk 82

Question Number : 185 Question Id : 9983671307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a total station. the range of reflectorless measurements depends on:
Options:
1. » reflectivity of the target



2 % conductivity of the target
3w scattering property of the target

4. » surface roughness of the target

Question Number : 185 Question Id : 9983671307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

giee Teud #H, Roesel W (Waas M) JAvar #r @5, s )RR aar &

Options:

1. » ®&T FHr Waawar

2w &I F FTeRar

3 TET T GRTOTH 0T
" 2

4. = H&?Eﬁ-tﬁ_‘snﬁm

Question Number : 186 Question Id : 9983671308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In a cadastral survey, a housing plot is in the form of a square ABCD with sides 20 m in length. The scale used for

plotting the map is 1 : 100. The plotted area of the plot ABCD on the map is: (in cm?)
Options:
1. = 40

2.« 400



200

>
%

4. = 2000

Question Number : 186 Question Id : 9983671308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U SHYfcd HAeTUT H, Ue FETHIT $ES Ue T ABCD & & # g, f5rfr o=t 20 m &= §| F=foy
e & T 1 : 100 ey &1 39T fFar o §) A= W ams ABCD & T &% & (em? &)

Options:

1. = 40

2. «» 400
3 % 200
4 = 2000

Question Number : 187 Question 1d : 9983671309 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A 20 m tape was tested before the survey work and found to be long by 3 cm. If the length of a road measured with this
tape is L metre, find the true length of the road (in metre).

Options:

1. = Lx (22?}3)

2 o L x (22;':3)



Question Number : 187 Question Id : 9983671309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FETOT T H I UF 20 m T F TS0 AT T 3R 3 om SET W@ AT I W T W AT U
T HSF H o@s L HeT 2, ar =% $r aEdias a6 (HeT #) 7 F:{

Options:

1. = Lx(ziia)

2. » x(55)
3 = B (%)
4 = B (%)

Question Number : 188 Question Id : 9983671310 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In survey work using total station with reflector measurements is to be taken in field. Which of the following are the
temporary adjustments to be done at a station?

Options:
1. » Centering, levelling. orientation

? w Fixing, centering, orientation



3  Fixing, levelling. sighting, orientation

4. » Fixing, centering, levelling, sighting

Question Number : 188 Question Id : 9983671310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEeT0T T H T TEAF F ITINT F Y Gres F ool A9 AT T B T 7 ¥ #i,
T W BT I g e gAee 22

Options:

1. = Hefier, sEfeer, s

2« fefeger, d@efier, AT

3w TTRHE, SafomEr, AT, Hiwews

4 o TR el daf el

Question Number : 189 Question 1d : 9983671311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a total station survey done in reflector mode, it is necessary to apply a prism constant. Here prism constant stands for:
Options:
1. » distance between effective centre of the prism and line of sight

? . distance between effective centre of the prism and its plumbing point

3 Vvertical distance between effective centre of the prism and the axis of total station



4. » diameter of the circle of the prism farget

Question Number : 189 Question Id : 9983671311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT A8 & BT 71T v 2ed BT §9eI0T H, TF Oen Toars 9o e ey § Ogr Bes
Traaes &1 3T
Options:

1« TeE & geEr Sy AR T W % 9 gl

5 o B & 9o g 3R 58 cdfeas @ne & 8 gl

Be & wodr &g 3R cied Bua & 3Me7 & @19 Fe g

w
g}

4w« [O°H T8" F I H TH

Question Number : 190 Question Id : 9983671312 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In carrying out a total station survey. on the river (having 250 m width) bank on one side, it is necessary to plot the
electric transmission posts on the opposite bank. No provision exists for crossing the river from one bank to the other.
and the transmission posts are inaccessible. In which of the following modes can the survey work be done? (EDM —
Electromagnetic Distance Measurement)

Options:
1. » EDM with single prism as reflector

2 % EDM with triple prism as reflector

3 Reflectorless EDM



4. » Either with EDM with single prism as reflector or reflectorless EDM

Question Number : 190 Question Id : 9983671312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el X (250 m HI31) & TH d€ W UH 2leel T Faaor H, Bulld ae X fagga mwor 9w sfea
AT HiAGT g1 AN F T T W UK e GUA AT T H TaEdT F g, 3N IRET G 3T 2
far & @ v R ¥ wa0r #1F fFar 51 w=ar 217 (EDM - feegagsaHig gff Ame)

Options:

1. « R & & & Terd Osq & Ty EDM

2 % Rueex & & 7 d9F B3 & @y EDM

3. o ReEFeRigd (TEas Ifgd) EDM

4, =
T ar ey & T H Ueho O=H F @y EDM o weer T (FwEas fea) EDM

Question Number : 191 Question Id : 9983671313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
T

The value of fDI sec’x dx is equal to:
Options:
1. = [w@—i— ngE(wE—i— 1)]

5 . %[*ﬁﬁk log_ (V2 + 1)]

2 x [w@—i— lﬂge(wﬁ— 1)]



' ~[V2 - log, (V2 + 1)]

Question Number : 191 Question Id : 9983671313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T
J§ sec®x dx =T A gIem:
Options:

1 = [V2+1og. (V2 + 1)]
5 o ~[V2+1og,(V2+ 1)]
3 % [V2+log,(V2-1)]

~[V2—1log, (V2 +1)]

-2
%

Question Number : 192 Question Id : 9983671314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The area bounded by the curves y = cos x between x = 0 and x = 2n in sq. units is:

Options:

1. 3

2. v 4



Question Number : 192 Question Id : 9983671314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ty = cosxT@RT x = 0 3T x = 2 & 9 &< STFA T9T FFE F M-

Options:

2. v 4

Question Number : 193 Question Id : 9983671315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The solution of the differential equation 3e* tany dx — (1 — e*)sec’y dy = 0 is:

Options:
1 = tany =c(1— e*)?

9 g siny =c(1—e")

3 o Coty = ell—e®)?

4 % cosy=c(1—e*)

Question Number : 193 Question Id : 9983671315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIphd THFT3e*tanydx — (1 —e¥)sec’ydy =0 & g 3

Options:




1. » tany=c(l—e*)?

2 x siny=c(l—e*)*

3 @ coty = c(1—e*)?

4. = cosy=c(l—e*)

Question Number : 194 Question Id : 9983671316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The solution of the differential equation ye¥ dx = (y3 + 2xe¥ )dy is:
Options:
1. = x? Lyt Y= cy’

9 x x—y’e ¥ =cy

3 x+y*e ™ =cy

4 & x+y'e” =cy’

Question Number : 194 Question Id : 9983671316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTFA AR ye¥dx = (v + 2xe¥)dy & BT &
Options:

-'I % xz —i—}:zg_}’: erz



2 % e —}123_}’ — c}rz
3. ¢ Xtyled=cy?

4 ® x+}1231"=c‘}rz

Question Number : 195 Question 1d : 9983671317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

; dy 4
The solution of x i S xcos? (—) is:
X X

Options:

1. =

He.
log, |x| — tan= = ¢

He...
’ log_|x| + tan— = c

2. v

X
log_|x| + Tan; =

3. %

log |x| — tan= = ¢
g |x| <

4, =

Question Number : 195 Question Id : 9983671317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
e

x = =y — xcos? (l) FT T &
dx = x
Options:

P
logglxl—tanx c



T
2 v logg|x|+t3nx c
log, | x| +tani—(f T

log,|x| —tan™ = ¢
4, = ¥

Question Number : 196 Question Id : 9983671318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

State whether the following statements are true or false.

(1) A ‘nonprime attribute’ is a member of a candidate key of a database table.
(if) Second normal form is based on the concept of full functional dependency.

Options:
1. = (i)—True, (ii)—False

. (i) — False, (ii) — True
2 (1) — True, (ii) — True

4 = (i) — False, (ii) — False

Question Number : 196 Question Id : 9983671318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aa0 & T FuF T § Y= gl

(i) T A=A Tigede, T Serad dlfoiehl &l ®haise @ &l TGEd 8l gl
(i) ST e BIH, Go Gaereel BUSHr T HTURUT W AT E

Options:




1. = (@) - e, (i) - 7o

2. v (i) -7ea, (i) - T

i

3« () - T, (i) - W

4w (i) - 7T, (i) - o

Question Number : 197 Question Id : 9983671319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

State whether the following statements are true or false.

(i) Worms can be transmitted via software vulnerabilities.
(if) Stuxnet is an example of a Trojan horse.

Options:
1. « (i) —True, (i) —False

2 % (1) — False, (i1} — True
3 (i) — True, (ii) — True

4. = (i)—False, (ii)—False

Question Number : 197 Question Id : 9983671319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Faw F A Fua @@ § e T
(i) 78, AFeaa WA IR FARA & Fhd 2|
(i) T=ZFHAT (Stuxnet) T =T 219 T 3807 2

Options:




Question Number : 198 Question Id : 9983671320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In Mozilla Firefox, what is the keyboard shortcut to switch between tabs?
Options:
1. « Ctrl +Tab

? w Alt+Tab

3. & Ctrl + Shift + Tab

A = Alt+ Shift + Tab

Question Number : 198 Question 1d : 9983671320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e mOTwEE H, &8 & a7 fag == ¥ w62 aiwe FiF T g 27

Options:

1. « Citrl +Tab



2 % Alt + Tab

3. « Ctrl + Shift + Tab

4. = Alt + Shift + Tab

Question Number : 199 Question Id : 9983671321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the following commands is used on the Run dialog box in Windows to open the Microsoft Word application?

Options:

1. &« word

? « winword

3. # msword

4 % windowword

Question Number : 199 Question Id : 9983671321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 AEFmTe 32 oaa @es F e & sigenT aiew 7 B 7 ¥ B s F1 s9ger
foram ST 22

Options:

1. = word

7« winword



3. % msword

4. = windowword

Question Number : 200 Question Id : 9983671322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In April 2019, which of the following social networking apps launched a fact-checking feature to handle fake-news
during the Lok Sabha election in India?

Options:
1. ® Facebook

9 WhatsApp
3w TikTok

4 = Hike

Question Number : 200 Question Id : 9983671322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ra H e @HT AN & a3, 2019 A, T # 7 5w \re At v & awamr
YT & T Fet F AT W T FRar gega Hr e

Options:

1 u a9+ (Facebook)

2 o WEES (WhatsApp)

3 « fewaw (TikTok)



4. « ®EF (Hike)



